1 ) C

A 14-year-old schoolgirl attends your clinic with a history of irregular menstruation and prolonged menstruation since menarche.  Her menses last 12-16 days with a cycle length varying from 35 to 60 days.  Occasionally, the menstrual flow can be very heavy and large sanitary towels need to be used. She changes pads hourly on a bad day. She has no coital activity before. No treatment has been instituted prior to your consultation.

Her haemoglobin was found to be 9.4 g/dL.  Serum iron profile revealed iron deficiency. Physical examination was unremarkable apart from signs of anemia.

Which one of the following management is most appropriate for her at this juncture apart from iron supplement?
A) Mefenamic acid (Ponstan)
B) Progestogen (Provera) 5 mg twice daily from day 16 to 21 of each cycle
C) Combined oral contraceptive pills (Nordette)
D) Endometrial sampling/ dilatation and currettage
E) Cyproterone acetate
2 ) A

A 23-year-old clerk is about to get married in 2 weeks` time. One day after the wedding banquet, the couple will go for honeymoon for 5 days, when they plan to get engaged in watersports. Her last menstrual period is 2 weeks ago and she has regular monthly cycles. It is expected that the next menstruation will fall on sometimes around her wedding and honeymoon and she dislikes this idea. She would like to get your advice. She has good past health. The couple does not want children at present.
Which one of the following is most appropriate?
A) Start her on combined oral contraceptive pills now
B) Start her on combined oral contraceptive pills on the first day of her next menstruation
C) Start her on triphasic oral contraceptive pills on the first day of her next menstruation
D) Give her reassurance as menstruation is physiological
E) Insert progestogen-containing IUCD
3 ) E

A para 1 woman, with one previous lower segment caesarean section (CS) for breech presentation, presented with spontaneous onset of labour at 39 weeks of gestation. The medical officer gave the following counseling regarding the trial of vaginal delivery:

1.  The chance of successful vaginal delivery is ~70%

2.  Vaginal delivery is associated with quicker postpartum recovery compared to CS

3.  The risk of scar rupture associated with vaginal delivery is in the order of ~2%

4.  There is a 70% risk of fetal asphyxia in case of scar rupture
Which of the above statements is/are INCORRECT?
A) 1 only
B) 3 only
C) 4 only
D) 1 and 3
E) 3 and 4
4 ) E

A 21-year-old woman was admitted to the gynaecological ward because of vaginal bleeding at 9 weeks of gestation. The bleeding was minimal. She had a pregnancy test performed 4 weeks ago and it was positive.
A transvaginal scan revealed an empty intrauterine gestational sac of 3.5 x 2.2 cm in size. No fetal pole or yolk sac was seen. The adnexal region was normal.

What is the most appropriate management?
A) Check serial serum human chorionic gonadotrophin levels for confirmation of diagnosis
B) Prescribe progestogen as this may improve placental development
C) Repeat transvaginal ultrasound scan in 1-2 weeks` time
D) Perform laparoscopy and surgical currettage
E) Start misoprostol for medical evacuation
5 ) A

A 35-year-old woman was admitted to the gynaecological ward because of vaginal bleeding at 9 weeks of gestation. The bleeding was minimal. She was certain of the date of her last menstrual period but she had irregular 45-60 days cycles. Pregnancy test was positive.
A transvaginal scan revealed a tiny intrauterine gestational sac of 0.5 x 0.7 cm in size. No fetal pole or yolk sac was seen. The adnexal region was normal. There was no free fluid in the pelvis. What is the most appropriate management?

A) Discharge and repeat transvaginal ultrasound scan in 1-2 weeks time
B) Check serial serum human chorionic gonadotrophin levels every week
C) Start misoprostol for medical evacuation
D) Perform diagnostic laparoscopy to exclude ectopic pregnancy
E) Prescribe progestogen for luteal support
6 ) B

An illegal immigrant from China with no previous antenatal care in Hong Kong was admitted to the antenatal ward at 41 weeks of gestation for assessment. Her previous two pregnancies were uncomplicated.
Which of the following is NOT an appropriate management?
A) Exclude date problem from the history and any antenatal record from China
B) Perform a dating scan to define an expected date of delivery by ultrasound
C) Assess the bishop score
D) Induction of labour can be postponed if there is suspicion of date problem
E) Perform a CTG to assess the fetal well-being
8 ) D

A 34-year-old woman, with 2 previous vaginal deliveries, suffered from gestational diabetes (GDM) since 28 weeks of gestation. She was found to have uterus large-for-date at 34 weeks. The fundal height was 39 cm.
Which of the following management is/ are necessary?
A) Check blood glucose levels for diabetic control
B) Ultraosund for amniotic fluid volume and fetal growth
C) Elective caesarean section at 38 weeks of gestation because of risk of shoulder dystocia
D) A and B
E) A, B and C
9 ) not c

At second stage of labour, a vaginal examination revealed that the midline suture of the fetal head ran from the 1 o`clock position to the 7 o`clock position. Following this suture line to the 1 o`clock position, a fontanelle was noted. Two more suture lines were noted to connect to this fontanelle.

What is the position of the fetal head?
A) Right occipital anterior
B) Left occipital anterior
C) Right occipital posterior
D) Left occipital posterior
E) Right occipital transverse
10 ) B

The routine pap smear of a 38-year-old woman showed `atypical squamous cell of undetermined significance (ASCUS), favouring human papillovirus (HPV) infection`. She had regular 3 yearly pap smear since the age of 25 and all were normal in the past.

Which of the following statements is correct?
A) She can have another pap smear in 3 years` time as ASCUS is benign
B) She should have a pap smear in 6 months` time
C) The risk of having cervical intra-epithelial neoplasia (CIN) of the cervix is approximately 50 %
D) It is essential to have colposcopic examination within 4 weeks` time
E) Treatment with `loop electrical surgical excisional procedure (LEEP)` is needed
11 ) D

A 52-year-old woman presents to your clinic because of small amount of vaginal bleeding in the past 7 days. She thought it was menstruation but she has not had any menstrual bleeding since 3 years ago. Her past health was good. She had no regular gynaecological check-up previously. You performed a pelvic examination and found a fungating tumour arising from her cervix.
What is/are the most appropriate next step(s) in the management?
A) Perform a pap smear for the diagnosis of carcinoma of cervix
B) Perform a dilatation & currettage to exclude endometrial carcinoma
C) Perform hysteroscopy to exclude endometrial involvement
D) Perform a biopsy from the tumour for the diagnosis of carcinoma of cervix
E) All of the above
12 ) A

A 14-year-old girl with no previous coital experience presented to the out-patient clinic complaining of cyclical lower abdominal pain and primary amenorrhoea. On physical examination of this girl, a bluish membrane was seen to bulge out from introitus. A vague abdominal mass was noted in the suprapubic region.
What is the appropriate treatment ?
A) Incision of the hymen and drainage of the blood
B) Combined oral contraceptive pills
C) Cyclical progetogen
D) Plastic surgery to creat an artifical vagina
E) Reassure and there is no need to treat
13 ) E

20-year-old waitress complained of insidious onset of lower abdominal pain for 4 days, which increased in severity. In addition, there was yellowish vaginal discharge. She had a temperature of 38.5 oC. Pelvic examination revealed cervical excitation and tenderness at both adnexae. No pelvic mass was noted. Her LMP was one week ago.
Which of the followings is the most appropriate panel of investigations?
A) Take high vaginal swab (HVS) for trichomonas, Chlamydia and other pathogens, endocervical swab (ECS) for gonococcus, and take blood for HIV and VDRL
B) Take HVS for trichomonas, gonococcus and other pathogens, ECS for chlamydia, and take blood for HIV and VDRL
C) Take HVS for trichomonas, chlamydia, gonococcus and all other pathogens, and take blood for white cell count, ESR, HIV and VDRL
D) Take ECS for trichomonas, chlamydia, gonococcus and other pathogens
E) Take HVS for trichomonas and other pathogens, ECS for chlamydia and gonococcus, and take blood for VDRL and HIV
14 ) D

A 21-year-old woman was admitted to the gynaecological ward because of vaginal bleeding at 9 weeks of gestation. The bleeding was minimal. She had a pregnancy test performed 4 weeks ago and it was positive. a transvaginal scan revealed empty uterus and significant amount of free fluid in the pelvis. No abnormal adnexal mass was seen. The patient remains stable clinically.
What is the most appropriate management?
A) Check serial serum human chorionic gonadotrophin levels for confirmation of diagnosis
B) Repeat transvaginal ultrasound scan in one week`s time
C) Start misoprostol for medical evacuation
D) Perform diagnostic laparoscopy laparoscopic surgery
E) Perform CT scan of the pelvis
15 ) not a,b,c

At second stage of labour, a vaginal examination revealed that the midline suture of the fetal head ran from the 5 o`clock position to the 11 o`clock position. Following this suture line to the 5 o`clock position, a fontanelle was noted. Two more suture lines were noted to connect to this fontanelle.
What is the position of the fetal head?
A) Right occipital anterior
B) Left occipital anterior
C) Right occipital posterior
D) Left occipital transverse
E) Right occipital transverse
16 ) D

A 32-year-old, primigravida woman with good past health presented at 30 weeks of gestation because of acute onset of shortness of breath. She had no cough or fever. The saturation of oxygen was only 92% in air. The pulse rate was 120 bpm. The ECG revealed S wave in lead I, Q and T wave in lead III together with right heart strain pattern.
What is the most likely diagnosis?
A) Acute exacerbation of asthma
B) Pneumonia
C) Acute pulmonary oedema
D) Pulmonary embolism
E) Ischemia heart disease
17 ) B

A 35-year-old lady at 18 weeks of gestation was found to have glycosuria.  An OGTT was performed with the following results: fasting glucose 7.0 mmol/l, 2-hour glucose 15.2 mmol/l.
Which of the followings is NOT an appropriate management measure?
A) To check her HbA1c.
B) To perform a blood sugar series immediately.
C) To consult endocrinologist immediately for insulin treatment.
D) To check her 24-hour urine protein and creatinine clearance.
E) To perform an ultrasound scan for fetal anomaly.
18 ) B

A 45-year-old woman presented to the out-patient clinic because of one year`s history of pelvic pain. She had no urinary or bowel symptoms. The pain was not related to her menstruation. There was no menstrual problem or dysparunia. Previous treatment by her family doctor using Non-steroidal anti-inflammatory drugs or combined oral contraceptive pills did not relieve her condition.
Supposed no abnormality was detected on physical examination and ultrasound examination, which of the following management is the most appropriate one?
A) Refer psychiatrist to exclude anxiety neurosis
B) Laparoscopy
C) MRI of pelvis
D) Hysteroscopy
E) Prescribe Gonadotrophin releasing hormone analogue
19 ) A

A woman presented with intrauterine death (IUD) at 28 weeks of gestation. The following oral glucose tolerance test (OGTT) result was obtained. She has no known history of diabetes mellitus.

Fasting glucose: 8.1 mmol/l

2 hours glucose: 11.2 mmol/l
Which of the following statements is CORRECT?
A) Pre-existing diabetes mellitus can be a cause of her IUD
B) Investigations for other causes of IUD is not necessary
C) Stress related to IUD will not cause this result
D) Insulin is necessary immediately to lower the blood glucose
E) The postnatal OGTT at 6 weeks postpartum will certainly be abnormal
20 ) C

A 36-year-old housewife attends your clinic with a history of primary infertility for 3 years.  She had regular 28-day cycle with normal 5-days` flow and no dysmenorrhoea.  She had good past health with no history of pelvic inflammatory disease.  The couple had no coital problem.  Her husband is a 40-year-old healthy clerk.  No investigations or treatment have been instituted prior to your consultation.
Assuming all investigations in question 1 are normal, which one of the following management is most appropriate for her?
A) Conservative management and await spontaneous conception
B) Clomiphene citrate
C) Ovulation induction by gonadotropin & intrauterine insemination
D) In-vitro fertilization
E) Intrauterine insemination
21 ) A

39-year-old woman is admitted because of polyhydramnios at 30 weeks of gestation. Her fundal height is 35 cm. A fetal morphology scan showed normal fetus. An oral glucose tolerance test revealed the following results:

                              Fasting glucose: 4.8 mmol/l

                              2 hours glucose: 11.2 mmol/l
Which of the following is the most appropriate management?
A) Start her on 1800 kcal diet and check her blood glucose profile a few days later
B) Start her on 1800 kcal diet and check her blood glucose profile once on diet
C) Start her on 1800 kcal diet and start insulin at the same time
D) Start her on 1800 kcal diet and start oral hypoglycaemic agent at the same time
E) Start her on 1500 kcal diet and check her blood glucose profile once on diet
22 ) B

A nulliparous woman at 30 weeks of gestation presented with unprovoked painless vaginal bleeding of 30 ml.  Her antenatal course has been normal.  Her blood pressure and pulse remained normal. Ultrasound revealed major placenta praevia. Her bleeding subsided gradually after admission. She lives far away from the hospital.
Which of the followings is NOT an appropriate management in her case?
A) Caesarean delivery if there is significant bleeding
B) Give weekly Dexamethasone till 36 weeks
C) Keep X-match
D) Keep in the hospital
E) Warn this woman of the risk of preterm delivery
23 ) E

A 34-year-old woman presented with multiple warty growth at the vulval region. She never had these lesions before.

Which of the following statement is correct?
A) Spontaneous resolution is unlikely
B) The association with other sexually transmitted disease is unlikely
C) It is likely to be a recent infection as she did not have any past symptoms
D) Prompt electrosurgery or laser treatment will significantly reduce the risk of recurrence
E) None of the above
24 ) E

A 70-year-old postmenopausal woman makes her first visit to your clinic.  She complains of a foul smelling vaginal discharge and irritation without other symptoms.  A physical examination reveals a foul-smelling discharge and a 1 cm eroded lesion on her left labia majora; a red, swollen vagina; and no other pelvic abnormalities.

The initial diagnostic approach should include which of the following?
A) Dilatation and curettage
B) Cervical biopsy
C) Wet mount microscopy of the vaginal discharge
D) Colposcopy
E) Biopsy of the lesion
25 ) D

A 30-year-old woman in her 9-week pregnancy was found to have a 3 cm simple left ovarian cyst without features of malignancy.
What is the most appropriate management?
A) Perform a laparoscopic ovarian cystectomy
B) Perform a laparotomy and ovarian cystectomy
C) Reassurance and no need for follow up scan
D) Reassurance and follow up scan 4 to 5 weeks later
E) Termination of pregnancy
26 ) C

A 25-year-old primipara had a normal vaginal delivery 15 minutes ago.  As an intern, you are called by the midwives to see her because of prolonged 3rd stage. She looks pale. The BP is 80/50 mmHg, with a pulse rate of 110 bpm, and there is a large amount of bleeding.

Which of the following is the most appropriate first thing to do?

A) Examine abdomen, massage uterus if it is not contracted
B) Do vaginal examination and repair any trauma if detected
C) Insert an intravenous line, give fluid resuscitation, and arrange blood replacement
D) Manual removal of placenta
E) Give Hemabate intramuscularly and then set up intravenous line
27 ) C
A 49-year-old woman complains of pelvic pressure and incontinence.  Examination reveals a second-degree cystourethrocoele and a second-degree rectocoele as well as first-degree uterine prolapse.

In this woman you would expect to see:
A) The cervix protruding from the vagina
B) The uterus protruding from the vagina
C) Both the anterior and posterior vaginal wall at the introitus
D) The anterior vaginal wall at the introitus

E) Nothing protruding from the vagina
28) B

A 45-year-old woman presented to the general gynaecology clinic with prolonged menstruation for 20 days.  She used to have regular normal menstruation.  Physical examination revealed bleeding from an irregular cervix, which was hard in consistency. Normal cervix cannot be seen.
Which one of the following investigations is most appropriate for her at this juncture?
A) Perform pap smear and endometrial sampling
B) Perform cervical biopsy
C) Prescribe a 3 weeks` course of progestogen and perform pap smear and endometrial sampling after the vaginal bleeding has stopped
D) Perform endometrial sampling now and perform pap smear after bleeding has stopped
E) Ultrasound examination for endometrial thickness
29 ) A

A 16-year-old secondary school girl at 8 weeks of gestation requesting termination of pregnancy (TOP) because of the pregnancy will interfere with her future academic life. She has a stable relationship with her boyfriend who is also 16 years old but has no intention to get married soon. She wanted you to keep her pregnancy a secret and do not in any case inform her parents and other relatives. She has good past health.

Which of the following management is INCORRECT?
A) You cannot perform a TOP as she cannot give a valid consent because of her age
B) Two registered doctors, who may not be specialist gynaecologists, must agree for the decision of TOP
C) The use of RU486 (ie mifepristone) together with prostaglandin E analogue (eg misoprostol) for medical TOP is not yet an option in clinical practice in Hong Kong
D) Suction evacuation under general anaesthesia is the most appropriate method for TOP for this gestation
E) Prophylactic antibiotics may reduce post-operative infection
30 ) D

A 29-year-old woman was referred to your antenatal clinic at 14 weeks of gestation because she and her husband had low MCV in their complete blood picture. The iron profile and haemoglobin pattern of both of them were normal.
What should be your advice?
A) Reassure as thalassaemia minor is excluded
B) Reassure as the most likely diagnosis is haemodilution
C) Offer checking the Direct Coomb`s test to exclude haemolysis
D) Offer to check the DNA of the couple to exclude alpha-thalassaemia trait
E) Offer amniocentesis for exclusion of Haemoglobin Bart`s disease
31 ) D

An illegal immigrant from mainland China presented with uterus small-for date at 42 weeks from her first date of last menstrual period. She had no antenatal visit in the current pregnancy. Ultrasound examination revealed that all the fetal parameters were small (< 3rd centile for 42 weeks) and corresponded to ~34 weeks of gestation only. The liquor volume is normal.
Which one of the following statements is correct?
A) Labour should be induced because intrauterine growth restriction cannot be excluded
B) A normal CTG can exclude intrauterine growth restriction
C) Gestational age can be accurately established if another ultrasound is performed in 2 weeks` time
D) Fetal surveillance should be offered even though the most likely diagnosis is date problem
E) For tocolysis if she goes into spontaneous labour because of risk of preterm delivery
32 ) B

A 30 years old lady complains of primary infertility for more than 3 years.  She has regular 35 days menstrual cycles. Her serum progesterone level at day 28 of the menstrual cycle is 35 nmol/L (compatible with luteal phase). Laparoscopic examination reveals bilateral patent tubes and no endometriosis. Her husband is 40 years old and his semen analysis is normal. There was no coital problem.
Which of the following statement is INCORRECT?
A) The couple is suffering from unexplained infertility
B) Prognosis is poor because of advanced male age
C) Prognosis is poor because duration of infertility is more than 3 years
D) Superovulation and intrauterine insemination can be offered as the initial treatment
E) GIFT or IVF should be offered if repeated failure of superovulation and intrauterine insemination
33 ) C

A 23-year-old girl attended the gynaecology out-patient clinic because of hirsutism and oligo-amenorrhoea. Her cycle length varied between 90-180 days. She required hormonal treatment for `inducing menstruation`. Her weight was 95 kg and her height was 1.55 m. There was no recent weight loss or galactorrhoea. She had no known medical problem. Gynaecological examination was unremarkable. An ultrasound examination revealed that both ovaries were enlarged with multiple follicles.

Which of the followings is unlikely to be found in her investigations?

A) Insulin resistance

B) Increased serum free testosterone levels

C) Increased serum follicular stimulating hormone levels

D) Increased serum luteinizing hormone levels

E) Increased serum prolactin levels
34) D

Which of the followings is/ are related to endometrial hyperplasia?

1.  Polycystic ovarian syndrome

2.  Unopposed oestrogen in hormone replacement therapy

3.  Use of gonadotrophin releasing hormone analogue

4.  Wedge resection of the ovaries for anovulatory women

5.  Use of tamoxifen
A) 1 only
B) 1 and 2 only
C) 2 and 3 only
D) 1, 2 and 5
E) 1, 2, 4 and 5
35 ) C/E? (from 2 pools…not sure)
A 16-year-old Form 4 student attends your clinic for advice because of unprotected coitus the night before. She gives a history of series monogamous relationship. She remains single and has no plan for marriage or starting a family. Her past health was good. The last menstrual period was 10 days ago.
Which one of the following is most appropriate acute management?
A) Report to the police as she is only 16 years old
B) Insert a copper-containing IUCD
C) Start her on 2 tablets of Eugynon-50 (50 g of Ethinylestradiol + 150 g of Levonorgestrel) and repeat 12 hours later
D) Reassure her as the coitus occurs at her `safety period`
E) Either `B` or `C` is appropriate in her case
37 ) not A,E

A 36-year-old housewife attends your clinic with a history of primary infertility for 3 years.  She had regular 28-day cycle with normal 5-days` flow and no dysmenorrhoea.  She had good past health with no history of pelvic inflammatory disease.  The couple had no coital problem.  Her husband is a 40-year-old healthy clerk.  No investigations or treatment have been instituted prior to your consultation.
Assuming all investigations in question 1 are normal, what is the chance of spontaneous natural conception in the coming year without any treatment in her case?
A) Less than 3 %
B) Less than 10 %
C) 20-30%
D) Around 40%
E) Over 40%
38 ) C

A 25-year-old woman, gravida 2 para 1, presented at 41 weeks of gestation. She had one previous lower segment caesarean section because of breech presentation. The current pregnancy was uncomplicated but she had no sign of labour. The bishop score was 4.
Which of the following statements in the discussion of induction of labour (IOL) is correct?
A) IOL at 41 weeks is associated with a higher caesarean section rate for fetal distress compared to IOL at 42 weeks
B) Induction of labour carries higher overall maternal morbidity rate compared to elective caesarean section
C) The risk of scar rupture is higher with the use of prostaglandin for cervical ripening or IOL
D) There is very high risk of uterine hyperstimulation despite judicious use of oxytocin
E) It is dangerous to postpone IOL to 42 weeks of gestation if the woman wishes
39 ) C

A 32-year-old woman is attending your antenatal clinic today.  She is 12 weeks pregnant.  The followings are her blood results:

White cell count
6.4x109/L
(Normal 4.0 - 10.8)

Haemoglobin (Hb)
9.8 g/dL  
(Normal 11.5 - 14.3)

MCV


       104 fL

(Normal 81 - 97)
Which of the following investigations is the most appropriate step to follow?
A) Check her Hb pattern and serum iron profile
B) Check her peripheral smear and reticulocyte count
C) Check her vitamin B12 and folate level
D) Check the husband`s complete blood picture
E) Check her blood for presence of thalassemia genes
40 ) C
A woman with twin pregnancy (38 weeks of gestation) is at the second stage of labour. Both twins are in cephalic presentation. The fetal heart tracings of both twins are normal. The first twin (twin I) is ready to be delivered.
Which of the following statement is INCORRECT?
A) The twin II can adopt transverse lie or breech presentation after the delivery of the first twin
B) The risk of birth asphyxia is higher for twin II compared to twin I
C) Caesarean delivery is shown to result in better perinatal outcome if either twin is not in vertex presentation
D) Oxytocin infusion is often given after the delivery of twin I
E) Twin II should be delivered within 30 minutes after the delivery of twin I
41 ) D

A normal multiparous 50-year-old woman has no complaints.  Menopause occurred two years before and was uneventful.  She would like to know if routine gynaecological examinations are of any value.
In terms of age specific incidence, the following statement(s) can be made in reply to her query:
A) The life time risk of breast cancer in Hong Kong Chinese is estimated to be 1 in 24
B) The risk of ovarian cancer increases with age
C) Seventy-five percent of endometrial cancer occurs after the age of 50
D) All of the above
E) None of the above
42 ) E

A woman was admitted at 7 weeks and 2 days of gestation because of vaginal bleeding for 2 days. She had irregular 25-40 days` menstrual cycle and the pregnancy test was positive 2 days prior to admission. No tissue mass was passed. Physical examination was normal and the uterus was normal in size. There was no abdominal sign. An ultrasound examination revealed empty uterus and both adnexal regions were normal. There was no free fluid in the pelvis.
Which of the following statements is INCORRECT?
A) Complete abortion is a differential diagnosis
B) Ectopic pregnancy cannot be excluded despite normal ultrasound examination
C) If it is a case of threatened abortion with date problem, further ultrasound examination in 2 weeks` time will identify intrauterine sac with fetal pole
D) Serial HCG is helpful in identifying failed pregnancy, either ectopic pregnancy or miscarriage
E) Diagnostic laparoscopy should be arranged to exclude ectopic pregnancy
43 ) B

A 36-year-old woman complained of chronic pelvic pain for over 10 years. She had two previous ovarian cystectomy performed for both ovaries because of bilateral endometriomas. The most recent operation was 12 months ago. She has received post-operative gonadotrophin-releasing analogue (GnRHa) for 6 months. The pain recurred shortly after cessation of GnRHa. She also had severe dysmenorrhoea and the pain could not be controlled by non-steroidal anti-inflammatory drugs or combined oral contraceptive pills. Ultrasound examination of the pelvis was normal. She was single, with no intention of starting a family. She revealed that the pain was very distressful.
Which of the followings is the most appropriate management for her?
A) Total abdominal hysterectomy and bilateral salpingo-oophorectomy (TAHBSO)
B) TAHBSO plus postoperative estrogen replacement therapy
C) TAH
D) Oral contraceptives combined with non-steroidal anti-inflammatory drugs
E) Injectable progestogen therapy (Depot Provera)
44 )  B

A 34-year-old lady with polycystic ovarian syndrome and infrequent menses complains of primary infertility. She has reduced her weight significantly through dieting and exercise, but her cycles remain irregular 90-120 days.
What would be your recommended treatment for her problem?
A) Conservative management and await spontaneous conception
B) Clomiphene citrate
C) Ovulation induction by gonadotropin
D) Intrauterine insemination
E) In-vitro fertilization
45 ) D

A 35-year-old woman was admitted to the gynaecological ward because of vaginal bleeding at 9 weeks of gestation. The bleeding was minimal. She was certain of the date of her last menstrual period but she had irregular 45-60 days cycles. Pregnancy test was positive.
Transvaginal ultrasound revealed an intrauterine gestational sac with the presence of a fetal pole. The crown rump length corresponded to 6 weeks of gestation only. Fetal heart pulsation was seen. Both adnexae were normal. What is the most appropriate management?

A) Complete bed rest in the hospital till 12 weeks
B) Prescribe progestogen for luteal support
C) Check serial serum human chorionic gonadotrophin levels
D) Change gestation age using ultrasound date
E) Repeat another ultrasound in 2 weeks time before considering changing her date
47 ) C
Group B streptococcus was isolated from a high vaginal swab of a pregnant woman at 22 weeks of gestation. She is asymptomatic. The antenatal course is uncomplicated.
Which of the following management is the most cost-effective way of improving neonatal outcome?
A) Repeat high vaginal swab at 37 weeks and treat if positive result
B) Give the baby a course of erythromycin after delivery
C) Cover the mother with penicillin during the intrapartum period
D) Cover the mother with cefuroxime during the intrapartum period
E) Eradicate the organism with a course of antibiotics at 22 weeks of gestation
48 ) E

A 23-year-old woman presented with secondary amenorrhoea for 3 years. The following hormone profiles were obtained.

	Hormones
	Levels
	Normal range

	LH
	14.3 IU/L*
	(Follicular phase 2.4-12.6)

	FSH
	35.8 IU/L*
	(Follicular phase 3.5-12.5)

	Prolactin
	320 IU/L
	(< 650)

	Oestradiol
	117 pmol/L
	(Follicular phase 90-716)


Which of the following statement is correct?
A) Ovarian biopsy is indicated to differentiate premature ovarian failure or ovarian resistant syndrome

B) Withdrawal bleeding will not happen after oral contraceptive pills

C) It is preferable to use lower dosage of oestrogen replacement in her case

D) Karyotyping is not indicated as it is not primary amenorrhoea

E) Spontaneous return of menstruation is possible if it is ovarian resistant syndrome
49 ) D

A 58-year-old woman presents to the Accident & Emergency (A&E) Department because of progressive lower abdominal pain for a few hours. She had history of uterine prolapse with a vaginal ring pessary inserted in the gynaecological clinic the same afternoon for the first time. Abdominal examination revealed a tender pelvic mass. She said that no abdominal mass was detected in the clinic.
What is the most likely diagnosis?
A) Ovarian cyst
B) Pelvic abscess
C) Uterine fibroid
D) Acute retention of urine
E) Translocation of the ring pessary
50 ) A

32-year-old, gravida 2 para 1 woman was admitted to the antenatal ward at mid-night because of no fetal movement and antepartum haemorrhage at 28 weeks of gestation. Intrauterine death was confirmed on admission. The fundal height was 28 cm and the uterus was tender and hard on palpation. The baby was in breech presentation. Speculum examination excluded local lesion in the lower genital tract and revealed 20 ml of fresh blood in the vagina.
Which of the followings is NOT an appropriate management?
A) Induction of labour by oxytocin in the following morning
B) Check coagulation profile and complete blood picture immediately
C) Perform ultrasound examination
D) Offer postmortem examination of the placenta and the stillborn baby after delivery
E) Offer grief counseling and psychological support
51 ) D

A 40-year-old woman complained of right lower quadrant pain for 24 hours associated with nausea. She also had irregular, frequent, and scanty `periods` for 6 weeks after last menses. Examination of the pelvis revealed a slightly irregular uterus, with the size of a 6 weeks` gestation.  The left ovary was normal in size, firm and not tender.  The right adnexal area revealed no masses on palpation but was very tender.
Diagnoses to be considered include:
A) Acute appendicitis
B) Ectopic pregnancy
C) Torsion of ovarian cyst
D) All of the above
E) None of the above
52 ) A

A 40-year-old woman developed a fever of 38.7 oC 5 days after a procedure of hysteroscopy and dilatation & curettage. Physical examination revealed tenderness over lower abdomen. There was no excitation pain. The clinical condition was otherwise stable.

Which of the following management is most appropriate?
A) Prescribe broad spectrum antibiotics as the most likely diagnosis is endometritis

B) Perform diagnostic laparoscopy to exclude pelvic abscess or uterine perforation

C) Repeat dilatation & curettage because intrauterine haematoma is most likely

D) Consult surgeons to exclude bowel injury

E) Perform cystoscopy because bladder perforation is most likely with the history
53 ) E
Regarding Chlamydia trachomatis infection, which of the following statement is correct?
A) It should be treated by Doxyclycine in both pregnant and non-pregnant women
B) Women with gonorrhoea are unlikely to have a coexisting chlamydial infection
C) Infection with Chlamydia usually results in vaginal discharge
D) The risk of infertility is over 50% after one episode of pelvic inflammatory disease due to Chlamydia
E) It is one of the most common causes of sexually transmitted disease treated in Social Hygiene Clinic in Hong Kong in 2002
54 ) B

A nulliparous woman at 26 weeks of gestation presented with a blood pressure of 165/95 mmHg and +++ proteinuria. The booking blood pressure was normal and she had no history of renal disease. She had nausea but there was no headache, blurring of vision or epigastric discomfort. Physical examination revealed hyper-reflexia but there was no ankle clonus or papilloedema. The fetus was normal in size. The following laboratory results were obtained:

	
	 Concentration
	 Reference range
	 units

	 Sodium
	 138
	 134-145
	 mmol/l

	 Potassium
	 3.9
	 3.8-5.4
	 mmol/l

	 Urea
	 3.7
	 3.4-8.9
	 mmol/l

	 Creatinine
	 51
	 44-107
	 umol/l

	 Albumin
	 58
	 63-78
	 g/l

	 Bilirubin
	 35
	 <15
	 umol/l

	 Alkaline phophatase
	 350
	 30-80
	 IU/l

	 Alanine transaminase
	 450
	 <58
	 IU/l

	 Urate
	 0.48
	 0.14-0.37
	 mmol/l

	 INR
	 0.95
	 0.9-1.1
	 sec

	 APTT
	 39.5
	 26.2-40.1
	 sec

	 WCC
	 18.9 x 109
	 4.0 - 10.8
	 Per litre


What is the most appropriate next management?
A) Antenatal steroids, antihypertensives, expectant management because of stable clinical condition
B) Arrange emergency caesarean delivery because of severity of condition
C) Book ultrasound of the liver to exclude obstructive lesions
D) Consult hepatologist to exclude hepatitis infection by hepatitis screening
E) Antenatal steroids and monitor daily biochemical profile as recent infection can account for these results seen
55 ) D

A 22-year-old clerk presented to the out-patient clinic with infrequent menstruation. Her cycle length varied between 90-150 days previously and recently she had her menstruation induced by medication given by her private general practitioner. Physical examination revealed a body mass index of 34 and an increase in hair growth over face and trunk. The pelvic examination was normal otherwise. She had regular coital activity but has no intention to start a family in the near future. The progestogen withdrawal test was positive. Results of the initial blood investigations are as follows:

LH

       13.4 IU/L    (Normal: Follicular phase 2.4-12.6)

FSH

       4.2 IU/L     (Normal: Follicular phase 3.5-12.5)

Prolactin
690 IU/L     (Normal < 650)

Testosterone
1.1 nmol/L   (Normal: 0.2-2.9)

Oestradiol
117 pmol/L   (Normal: Follicular phase 90-716)

What further investigation should be performed?

A) Travaginal ultrasound examination for endometrial thickness

B) Endometrial sampling

C) MRI of pituitary

D) Oral glucose intolerance test

E) Karyotype
56 ) A

A para 3 women was admitted because of antepartum haemorrhage at 29 weeks of gestation following an accidental abdominal contusion in the street. The amount of bleeding was minimal. The uterus was tender and hard. The rest of abdomen was soft. CTG revealed normal fetal heart rate but uterine contractions with a frequency of 1 in 2-3 minutes were noted.
Which of the followings is NOT an appropriate management?
A) Give antenatal steroids and conservative management till 34 weeks
B) Transfuse fresh frozen plasma
C) Deliver the baby by emergency caesarean section
D) Inform anaesthetist
E) Inform neonatal intensive care unit
57 ) C

A 14-year-old girl with no previous coital experience presented to the out-patient clinic complaining of cyclical lower abdominal pain and primary amenorrhoea. On physical examination of this girl, a bluish membrane was seen to bulge out from introitus. A vague abdominal mass was noted in the suprapubic region.
What is most likely diagnosis?
A) Testicular feminisation
B) Turner syndrome
C) Imperforate hymen
D) Absent vagina
E) None of the above
58 ) B

A 31-year-old gravida 6, parity 4+1 woman who has a history of 5 premature deliveries, presented at 10 weeks of gestation.  Her previous babies were delivered at 34, 30, 26 and 24 weeks of gestation respectively and her last pregnancy resulted at an abortion at 20 weeks of gestation. All were delivered in China and the records were not available. She recalled that all deliveries were very quick and more or less painless. On examination, her uterus was 10 to 12 weeks` size.  The cervix was soft and 3 cm long. The internal os was closed.

Which of the followings should be your advice?
A) Advise termination of pregnancy as the chance of this pregnancy carrying till term is minimal
B) Cervical cerclage should be performed at ~14 weeks
C) Advise bed rest in hospital until 24 weeks of gestation
D) Prescribe prophylactic tocolysis until 34 weeks of gestation
E) Advise regular antenatal visit and only admit her early if she is in labour; other prophylactic treatment carries no value
59 ) A

An obese 63-year-old woman presents with a 3-month history of continuous scanty vaginal bleeding.  Adequate history and physical examination at the clinic revealed no other abnormalities.  A cervical smear is negative for malignancy.

What is your recommendation for her care?
A) Hysteroscopy and endometrial biopsy
B) Prescribe a progestogen to stop the bleeding
C) Cervical cone biopsy
D) Review at the outpatient clinic every 6 months for evaluation
E) Ultrasound examination of the pelvis
60 ) A

A woman aged 48 attends your clinic with a history of irregular and prolonged menstruation for 3 months.  Her menses last 7 to 20 days with a cycle length of 20 to 45 days. The amount of bleeding is not excessive but she also had intermenstrual bleeding. She had regular pap smear and the last one performed 4 months ago was normal.

Her haemoglobin was found to be 10.1 g/dL.  Pelvic examination was unremarkable.

Which one of the following investigations is essential?

A) Endometrial biopsy

B) Transvaginal ultrasound for endometrial thickness

C) Transabdominal ultrasound for uterine fibroid

D) Repeat pap smear

E) All of the above
61 ) not D, not C
A woman at 8 weeks of gestation was diagnosed to have syphilis infection. Which of the following statement in the management is correct?
A) Risk of congenital syphilis is low at this early gestation provided treatment is complete
B) Ultrasound examination can pick up congenital syphilis infection and hence the patient can be reassured if it is normal
C) The effective treatment includes broad spectrum antibiotics such as cephalosporins
D) Discuss termination of pregnancy because of 80-90% risk of congenital syphilis infection or intrauterine growth retardation despite adequate treatment
E) None of the above
62 ) B

A primigravida woman was referred because the fundal height was 28 cm at 32 weeks. She had an earlier ultrasound at 18 weeks of gestation, which revealed normal fetal parameters and morphology.
Which of the following statements is incorrect?
A) An ultrasound should be arranged for fetal size and liquor volume
B) Date problem is still one of the possibilities
C) The fetal parameters might still be normal on ultrasound examination
D) Antenatal corticosteroids should be given if preterm delivery is anticipated
E) Fetal surveillance by CTG and umbilical artery doppler should be arranged if IUGR is diagnosed
63 ) B

A 55-year-old woman has a large red area of tissue at the vaginal apex 4 weeks after a vaginal hysterectomy. It is painless.
Of the following, which is the most likely diagnosis?
A) Prolapsed fallopian tube
B) Granulation tissue
C) Carcinoma
D) Pressure ulcer
E) Endometriosis
64 ) A

A nulliparous woman at 28 weeks of gestation presented with vaginal bleeding of 30 ml. She also complained of mild lower abdominal pain. Her antenatal course has been normal. Her blood pressure and pulse remained normal. Her bleeding subsided gradually after admission.
Which of the followings is NOT an appropriate management in her case?
A) Digital examination to check for cervical dilatation
B) Ultrasound for placental site
C) CTG for fetal well-being and uterine contractions
D) Speculum examination for local lesion
E) Dexamethasone for hastening the fetal lung maturity
65 ) not C

The following results belonged to a 33-year-old primigravida lady at 10 weeks of gestation. She was recently diagnosed to have gestational diabetes and was put on 1500 kcal diet. She had good compliance with the diet.

Fasting glucose:         7.5 mmol/l

Post-breakfast glucose:  9.5 mmol/l

Post-lunch glucose:      10.8 mmol/l

Post-super glucose:      10.9 mmol/l

Mid-night glucose:       13.9 mmol/l
Which of the following statements is INCORRECT?
A) There is a high chance that she had pre-existing diabetes mellitus 
B) Pre-existing diabetes cannot be diagnosed based on these results
C) Insulin needs to be prescribed
D) The HbA1C is expected to be abnormal
E) There is a 20% chance of congenital fetal anomalies
66 ) A

A 38-year-old woman who conceived after a treatment cycle of in-vitro fertilization was admitted to the gynaecological ward because of excessive vomiting. She was at 8 weeks of gestation on admission. The thyroid function test revealed the following results.

STSH :          < 0.3 (Normal: 0.3-4 MIU/L)

Free T4:        28.3  (Normal: 7-21.8 pmol/L)

Red cell zinc:  210   (Normal: 155-237 mmol/L of RBC)
Which of the following management is appropriate?
A) Monitor thyroid function every 2 weeks as it will likely return to normal without treatment
B) Prescribe propylthiouracil for treatment as less proportion crosses the placenta
C) Prescribe carbimazole for treatment as it is the most effective treatment option
D) Check levels of anti-thyroglobulin antibodies, anti-microsomal antibodies and thyroglobulin stimulating antibodies before initiating any treatment
E) None of the above
67 ) B

Postdates pregnancy is defined as:
A) pregnancy exceeds 40 weeks from the first day of the last menstral period
B) pregnancy exceeds 294 days from the first day of the last menstral period
C) pregnancy at or exceeds 42 weeks from the first day of the last menstral period
D) pregnancy exceeds 42 weeks from the day of ovulation
E) pregnancy exceeds expected date of confinment
68 ) D

A 30 year old patient comes to you as she has had missed the 5th tablet of combined oral contraceptive pills yesterday. She has also had coitus with her husband yesterday too. She is now afraid of getting pregnant.
What is your professional advice?
A) She need postcoital contraceptive with either Yuzpe method or IUCD
B) She should discard the remaining tablets and start a new cycle
C) She should discard the remaining tablets and wait for menses return before starting another cycle
D) She should take the missed pill and continue the present cycle and use condom for the coming 7 days
E) She should change to progestogen injectable which do not require daily oral intake of tablet
69 ) D

At the late first stage of labour, a vaginal examination revealed that the midline suture of the fetal head ran from the 3 o`clock position to the 9 o`clock position. Following this suture line to the 3 o`clock position, a fontanelle was noted. Two more suture lines were noted to connect to this fontanelle.
What is the position of the fetal head?
A) Right occipital anterior
B) Left occipital anterior
C) Right occipital posterior
D) Left occipital transverse
E) Right occipital transverse
70 ) C

A couple come to you for investigation and counseling for primary infertility. The woman has regular menstrual cycles with normal flow, and her husband had a normal semen analysis 3 years ago.
What should NOT be the initial investigation of this couple?
A) Semen analysis
B) Mid-luteal phase progesterone
C) Routine thyroid function test
D) Body mass index
E) Rubella antibody testing
71 ) A

A nulliparous lady is having poor progress during 1st stage in the labour ward.
Which of the followings is an appropriate method for augmentation of labour?
A) Amniotomy
B) Syntometrine infusion
C) Prostaglandin F2-alpha injection
D) Prostaglandin E2 vaginal pessary
E) Amnioinfusion
72 ) E

A 36-year-old woman attends your clinic for advice because of unprotected coitus the night before. She has 2 children and does not want to have further child at present. Her past health was good. The last menstrual period was 10 days ago. Male condom is the method of contraception but she admitted that they sometimes `forgot to use` any contraception.
Which one of the following is most appropriate acute management?
A) Prescribe the progestogen-only pills (0.75 mg levonorgestrel) and repeat 12 hours later
B) Insert a copper-containing IUCD
C) Start her on 2 tablets of Eugynon-50 (50 g of Ethinylestradiol + 150 g of Levonorgestrel) and repeat 12 hours later
D) Reassure her as the coitus occurs at her `safety period`
E) `A`, `B` and `C` are all appropriate in her case
73 ) A

Group B streptococcus (GBS) vaginal colonization in pregnancy was isolated with severe neonatal infection. In countries where GBS colonization is prevalent, which of the following strategies is the most cost-effective one to reduce perinatal morbidity?
A) Perform GBS screening at 34-36 weeks and give intrapartum prophylactic antibiotics if positive
B) Perform GBS screening at booking visit and give intrapartum prophylactic antibiotics if positive
C) Routine intrapartum prophylactic antibiotics because GBS screening is ineffective
D) Routine neonatal admission for observation for signs of sepsis
E) Routine prophylactic antibiotics for neonates in `high-risk` groups
74 ) C

A 33-year-old woman presented with two abnormal pap smear results.  The first one was performed 6 months ago and it showed `atypical squamous cells with undetermined significance (ASCUS). The second one was performed 3 weeks ago and it showed `ASCUS` and `HPV effect`.  The physical examination of the cervix by her general practitioner was normal.
What should be the most appropriate management and why?
A) Repeat smear with cytobrush because it increases the yield of cells
B) Repeat pap smear every 3 months till normal smear is obtained because of the absence of `LGSIL` or `HGSIL`
C) Refer colposcopy because `HGSIL` has been reported in 8-10% of these cases
D) Refer colposcopy because there is high risk of squamous cell carcinoma
E) Refer colposcopy because a cervical biopsy is mandatory
75 ) B

A nulliparous woman at 26 weeks of gestation presented with a blood pressure of 165/95 mmHg and +++ proteinuria. The booking blood pressure was normal and she had no history of renal disease. She had nausea but there was no headache, blurring of vision or epigastric pain. Her liver function test result shows ALT =3000.

What is the most appropriate next management?
A) Antenatal steroids, antihypertensives, expectant management because of stable clinical condition
B) Arrange emergency caesarean delivery because of severity of condition
C) Book ultrasound of the liver to exclude obstructive lesions
D) Consult hepatologist to exclude hepatitis infection by hepatitis screening
E) Antenatal steroids and monitor daily biochemical profile as recent infection can account for these results seen
76 ) not A , D

A para 3 women was admitted because of antepartum haemorrhage at 29 weeks of gestation following an accidental abdominal contusion in the street. The amount of bleeding was minimal. The uterus was tender and hard. The rest of abdomen was soft. CTG revealed normal fetal heart rate but uterine contractions with a frequency of 1 in 2-3 minutes were noted.
What is the most likely diagnosis?
A) Preterm labour
B) APH of unknown origin
C) Abruptio placentae
D) Placenta praevia
E) Appendicitis
77 ) B

A 55-year-old woman complained of 3 months` history of postmenopausal bleeding. She reached menopause at the age of 53. This was her first episode of postmenopausal bleeding. The bleeding was of small amount and stained her underpants for 10 episodes within these 3 months. She was not on any medication. A transvaginal ultrasound examination revealed an endometrial thickness of 6 mm.
Which of the following statements is NOT correct?
A) An hysteroscopy and endometrial biopsy are mandatory investigations

B) The risk of endometrial carcinoma in her case is at least 50%

C) The most likely diagnosis is atrophic vaginitis

D) Carcinoma of the cervix is a differential diagnosis

E) Granulosa cell tumour of the ovary is a differential diagnosis for postmenopausal bleeding
78 ) B

A pregnant lady is referred to you because of post-date.
Which of the following is not a fetal risk associated with her condition?
A) Meconium aspiration syndrome
B) Necrotising enterocolitis
C) Intrauterine death
D) Postmaturity sydnrome
E) Shoulder dystocia due to macrosomia
79 ) D

The following pregnancy complications are associated with advanced maternal age:

a. trisomy 21 and 18

b. spontaneous abortion

c. gestational diabetes

d. pre-eclampsia

e. gestational thrombocytopenia
A) a,c,d
B) a,c,e
C) a,b,c
D) a,b,c,d
E) a,b,c,d,e
80 ) not E

A 26-year-old, para 3 woman attended the antenatal clinic at 19 weeks of gestation.  Her last three pregnancies were uncomplicated.  Early ultrasound examination in this pregnancy revealed singleton intrauterine pregnancy with increased nuchal translucency.  A chorionic villous sampling revealed normal fetal karyotype.
Which of the following is the most appropriate action?
A) Offer amniocentesis for confirmation of the karyotype
B) Offer ultrasound for fetal cardiac anomaly
C) Discuss termination of pregnancy as most fetuses with increased nuchal translucency have congenital anomalies despite normal karyotype
D) Offer serial ultrasound of the spine as it is associated with neural tube defect
E) Discharge to maternity child care for further care because she belongs to the low-risk group
81 ) B

You are the intern in the labour ward.  You were instructed to perform an artificial rupture of the membranes.  After you have ruptured the membranes, you noticed a loop of the umbilical cord is in the woman`s vagina.
Which of the following is NOT an appropriate management while arranging for emergency caesarean section?
A) Elevation of the presenting part by vaginal route
B) Placing the mother in the left lateral position
C) Placing the mother in the knee-chest position
D) Filling the mother`s bladder with 700 ml of normal saline
E) Wrapping the umbilical cord in a warm towel
82 ) not A,D

You received a referral from your physician colleague that a 24-year-old clerk with a known history of hyperthyroidism on regular carbimazole is pregnant at 8 weeks. She has also taken some Chinese herbs for her flu at 6 weeks of amenorrhoea. However, she did not know the composition of the herbs. The lady requested for a termination of pregnancy for risk of teratogenic effect of the drugs taken.
Which of the following is correct:
A) Carbimazole is contraindicated in pregnancy because it crosses the placenta causing fetal hypothyroidism
B) Termination of pregnancy should not be granted in all circumstances in her case as the risks of carbimazole and Chinese herbs are negligible
C) The maternal anxiety is the only indication for the termination of pregnancy
D) Teratogenic effects of the drugs taken can be comfortably excluded by a detailed morphology scan at around 20 weeks
E) Fetal anomaly can be excluded with karyotyping from amniocentesis
83 ) E

A 37-year-old woman attended your clinic for a routine antenatal visit at 31 weeks` gestation in her first pregnancy.  Her booking blood pressure was 130/80 mmHg.  Today her initial blood pressure was 170/105 mmHg.  It measured 145/90 mmHg after 15 minutes.  She had gained 13 kg since booking and had leg oedema in the recent 2 days.  There was +++ proteinuria on dipstick test of her urine.  She remains asymptomatic.  The fundal height is appropriate for the date.
Which of the following is the most appropriate management?
A) Check her biochemical profile (complete blood picture, renal and liver function test, serum urate and clotting profile), perform CTG and review in a week`s time.
B) Check her biochemical profile, administer antenatal corticosteroids and review in a week`s time
C) Check her biochemical profile and collect the 24 hours` urine for protein and creatinine clearance. Manage as outpatient unless she becomes symptomatic.
D) Admit for emergency caesarean delivery
E) Hospitalisation for investigations and monitoring
84 ) B

A 33-year-old gravida 2, para 2 woman presents with severe low back and pelvic pain.  The pain began with her last menstrual period 3 days ago and has grown steadily worse.  She has noticed a history of cyclic pain associated with the periods, and it has been worsen gradually over the past 9 months.  Examination reveals bilateral 5 cm cystic ovaries that are moderately tender. Tenderness is also noticed in the region of both uterosacral ligaments.

The most likely diagnosis in this patient is:
A) Recurrent pelvic inflammatory disease
B) Pelvic endometriosis
C) Tubo-ovarian abscess
D) Bilateral hydrosalpinx
E) Ovarian torsion
85 ) A

A 37-year-old presented to the gynaecology outpatient clinic because of 7 years` history of primary infertility. She had irregular 35-45 days` cycles. There was no history of gynaecological disease. The husband`s semen analysis performed 6 months ago revealed slightly reduced sperm count.

A set of investigations were ordered by the attending medical officer:

1.  Mid-luteal phase progesterone;

2.  Follicular phase luteinizing and follicular stimulating hormones (LH and FSH);

3.  Laparoscopic chromotubation for tubal patency;

4.  Repeat semen analysis
Which of the above investigation(s) is/ are essential in establishing the cause in her case?
A) All 4 investigations
B) Mid-luteal phase progesterone only
C) Mid-luteal phase progesterone and repeat semen analysis
D) Mid-luteal phase progesterone, LH and FSH and repeat semen analysis
E) Mid-luteal phase progesterone, LH, FSH and laparoscopic chromotubation
86 ) D

Suppose a pregnant woman with a history of pre-existing diabetes is pregnant at 12 weeks of gestation and expressed her worries regarding chromosomal anomalies.
The medical officer made the following statements in the counselling:

1. Advanced maternal age is associated with increased risk of trisomy 21, 18 and 13 only

2. Poorly controlled DM is also a risk factor for Down`s syndrome

3. Biochemical screening is not accurate for women with diabetes mellitus because the AFP and HCG levels are affected

4. Chorionic villous sampling and amniocentesis are both suitable options for her

Which of the above statement(s) is/are INCORRECT?
A) All of the above
B) 1 only

C) 1 and 2

D) 1, 2 and 3
E) 1 and 3
87 ) not A

A 55-year old previously healthy woman attends your clinic with distressing symptoms of hot flushes and sweating. She reached menopause one and a half years ago. She enquired the value of oestrogen replacement therapy (HRT).

The following statements were made by the attending doctor:
1. HRT reduces the risk of osteoporotic fracture

2. HRT reduces the risk of cardiovascular disease and stroke

3. HRT effectively prevents Alzheimer`s disease

4. HRT reduces the risk of rectal cancer

5. HRT increases the risk of carcinoma of breast even with its use for < 2 years

6. HRT effectively alleviates the symptoms that she complained of
Which of the above statement(s) is/are NOT true according to the recent literature?
A) 2,3,4 and 5
B) 2 and 3 only
C) 5 only
D) 3 only
E) 2,3,5 only
88 ) E

The following results belonged to a 25-year-old primigravida lady at 26 weeks of gestation. She was recently diagnosed to have gestational diabetes and was put on 1800 kcal diet.

Fasting glucose:         7.5 mmol/l

Post-breakfast glucose:  8.5 mmol
Which of the following statement is INCORRECT?
A) There is a high chance that she had pre-existing diabetes mellitus
B) Pre-existing diabetes cannot be diagnosed based on this results
C) Insulin needs to be prescribed
D) The HbA1C is expected to be abnormal
E) There is a 20% chance of congenital fetal anomalies
89 ) E

A 37-year-old woman attended your clinic at 16 weeks` gestation. She had a biochemical screening test for Down`s syndrome, which revealed a risk of 1 in 350. However, the serum alpha-feto protein (AFP) was elevated to 2.5 MoM.
Which of the following statement is true?
A) The risk for Down`s syndrome is increased because of the elevated AFP
B) The risk for open neural tube defect is increased
C) The risk for abdominal defect is increased
D) A and B
E) B and C
90 ) B

Which of the followings is an appropriate indication for immediate induction of labour.
A) A para 4 diabetic woman at term gestation with macrosomic baby (estimated fetal weight 4.6 kg).
B) A multiparous woman at term gestation with pre-eclampsia with favourable cervix.
C) A nulliparous women at term with favourable cervix and breech presenting fetus.
D) A multiparous woman at term gestation with placenta praevia type II with favourable cervix.
E) A multiparous woman at 31 weeks of gestation with rupture of membranes and no signs of infection or labour.
91 ) not D,E

A 42-year-old, gravida 3 para 2 woman presented at 35 weeks of gestation because of bilateral lower leg oedema. Tenderness and increase in skin temperature were found on physical examination of the calf. The blood picture was normal but there was a tachycardia of 110 beats per minute. There was no proteinuria. The ECG revealed right heart strain pattern. An urgent Doppler of both legs revealed thrombi in the femoral veins.
Which of the following managements is NOT appropriate?
A) Start aspirin and low molecular weight heparin
B) Consult radiologist for urgent ventilation perfusion scan
C) Monitor oxygen saturation
D) Emergency delivery at this juncture is not necessary
E) Consult cardiologist for pulmonary angiogram in case of equivocal results from the ventilation perfusion scan
92 ) D

A 32-year-old, primigravida woman with good past health presented at 30 weeks of gestation because of acute onset of shortness of breath. She had no cough or fever. The saturation of oxygen was only 92% in air. The pulse rate was 120 bpm. The ECG revealed S wave in lead I, Q and T wave in lead III together with right heart strain pattern.
Which of the following managements is NOT appropriate?
A) Start low molecular weight heparin while waiting for the diagnosis to be confirmed
B) Consult radiologist for urgent ventilation perfusion scan
C) Monitor oxygen saturation
D) Delivery by caesarean section is advised because this can alleviate the condition
E) Consult cardiologist for pulmonary angiogram in case of equivocal results from the ventilation perfusion scan
93 ) not B

A 52-year-old woman who had a total abdominal hysterectomy performed for uterine fibroid 7 days ago complained of passing fluid from the vagina for one day. Physical examination revealed a temperature of 38 degree Celcius. The abdomen was soft and nontender. Speculum examination confirmed the presence of 5 ml of yellowish fluid.

Which of the following investigation (s) is/are appropriate at this juncture?

1.  Ultrasound of the renal system

2.  Insert gauze into vagina, infuse dye to the bladder and then check the gauze

3.  Compare the biochemistry of the vaginal fluid with that of the serum

4.  Examination under anaesthesia

5.  Urodynamic study
A) 1 only
B) 1 and 2 only
C) 1,2 and 3 only
D) 1, 2, 3 and 4 only
E) 1 and 5 only
94 ) A

A 21-year-old woman was admitted to the gynaecological ward because of vaginal bleeding at 9 weeks of gestation. The bleeding was minimal. She had a pregnancy test performed 4 weeks ago and it was positive.
She also complained of excessive nausea and vomiting in the recent one week. A transvaginal scan revealed absence of intrauterine sac but the presence of a large amount of intrauterine heterogenous substance -typical of `snow-storm` appearance. The uterus was 12-weeks` size. The adnexae were normal. 

What is the most appropriate management?
A) Surgical evacuation
B) Misoprostol for medical evacuation
C) Check serial serum human chorionic gonadotrophin levels for confirmation of diagnosis
D) Repeat transvaginal ultrasound scan in 2 weeks` time for viability
E) Perform laparoscopic surgery
95 ) A

A nulliparous woman at 29 weeks of gestation presented with a blood pressure of 155/95 mmHg and ++ proteinuria. The booking blood pressure was normal and she had no history of renal disease. She had no nausea, headache, blurring of vision or epigastric discomfort. The physical examination was normal. The fetus was normal in size. The following laboratory results were obtained:

	
	 Concentration
	 Reference range
	 units

	 Sodium
	 138
	 134-145
	 mmol/l

	 Potassium
	 3.9
	 3.8-5.4
	 mmol/l

	 Urea
	 3.7
	 3.4-8.9
	 mmol/l

	 Creatinine
	 51
	 44-107
	 umol/l

	 Albumin
	 58
	 63-78
	 g/l

	 Bilirubin
	 8
	 <15
	 umol/l

	 Alkaline phophatase
	 115
	 30-80
	 IU/l

	 Alanine transaminase
	 32
	 <58
	 IU/l

	 Urate
	 0.39
	 0.14-0.37
	 mmol/l

	 INR
	 0.95
	 0.9-1.1
	 sec

	 APTT
	 39.5
	 26.2-40.1
	 sec

	 WCC
	 8.9 x 109
	 4.0 - 10.8
	 Per litre


What is the most appropriate next management?
A) Antenatal steroids, antihypertensives, expectant management because of stable clinical condition
B) Arrange emergency caesarean delivery because of severity of condition
C) Consult physician to exclude secondary cause of hypertension
D) Consult hepatologist for elevated alkaline phosphatase
E) Monitor her as outpatient and review in one week
96 ) E

A woman at 8 weeks of gestation developed Rubella infection. Which of the following statement in the management is correct?
A) Risk of congenital Rubella infection is low at this early gestation- patient should be reassured
B) Ultrasound examination can pick up congenital Rubella infection and hence reassure the patient if it is normal
C) Check Rubella titres as the peak level correlates with number of congenital anomalies
D) Contact tracing of other women in the same clinic is not necessary because of Rubella in pregnancy is usually milder and does not infect others
E) Discuss termination of pregnancy because of 80-90% risk of congenital Rubella infection 

97 ) D

A 42-year-old woman just had an evacuation of uterus for molar pregnancy. What should be the post-operative management?
A) Repeat evacuation of uterus in one week to reduce the chance of residual trophoblastic disease (RTD) if the pathology reveals complete mole
B) Repeat evacuation of uterus in one week to reduce the chance of RTD and monitor serial HCG in blood
C) Monitor serial HCG in urine and give chemotherapy if it is persistently +ve in one month
D) Monitor serial HCG in blood and give chemotherapy if the drop of HCG is abnormal
E) Give one course of methotrexate prophylactically to reduce the chance of RTD
98 ) E

A 30 year old woman who is a sex worker comes to you for contraceptive advice. She uses the condom occasionally and has had 5 termination of pregancies before.
What is the best contraceptive method among the following choices for her?
A) Combined oral contraceptive pills
B) Progestogen only pills
C) Intrauterine contraceptive dervice
D) Male condom
E) Progestogen injectable
99 ) D

A 17-year-old girl complains of primary amenorrhoea. She has underdeveloped secondary sexual characteristics but normal female external genitalia. Pelvic ultrasound revealed atrophic uterus and small ovaries. Her hormonal profile was shown as follow. She was referred to endocrinologist and a provisional diagnosis of isolated gonadotropins deficiency was made.

FSH:           0.4 IU/L         (normal range: 2-10)

LH:            0.9 IU/L         (normal range: 2-15)

Oestradiol:    <90 pmol/L       (Follicular phase <600)
Which of the following statement is INCORRECT?
A) Her kayorypte is likely to be normal

B) Radiological examination is required to exclude structural lesions in the brain and pituitary gland

C) Hormonal replacement therapy is required to prevent complications of hypoestrogenaemia and to promote breast development

D) Clomiphene citrate therapy is required for ovulation induction if pregnancy is planned
E) If she is pregnant, luteal phase support should be continued in early pregnancy until the time of luteal-placental shift
100 ) D

Following delivery, a patient who planned to breastfeed the baby as long as possible asked about lactation for contraception.

Which of the following statements is correct?

A) Lactation is an effective contraception within 1 year of delivery

B) It is effective contraception if less than half of the feed is by bottle formula

C) There is a 9 % chance of pregnancy if she has full breast feeding and she remains amenorrhoeic within the first 6 months

D) It is not a safe means of contraception once the woman is not amenorrhoeic despite full breastfeeding 

E) Checking the cervical mucus during lactation improves the fertility awareness and the effectiveness as contraception
101 ) E

Which of the following statement concerning the vaginal examination of a term nulliparous patient at the second stage of labour is correct?

A) When the fetus is in occipital-anterior position, the anterior fontanelle is more easily felt than the posterior fontanelle

B) The station of the fetal head is normally at S to S +1 level

C) The sarcal promontary can usually be reached during the digital vaginal examination

D) If a fontanelle is located at the 1 o`clock position and 3 suture lines, including the midline suture, run from this fontanelle, the fetus is in right occipital posterior position.

E) Both ischial spines can be located during the digital vaginal examination
102 ) C

A 29-year-old woman attends your antenatal clinic for the first time at 34 weeks of gestation.  She complains of abdominal distension. The fundal height measures 38 cm. An ultrasound examination revealed polyhydramnios and fetal hydrops. The followings are the results of her complete blood picture:

White cell count
7.4x109/L
(Normal 4.0 - 10.8)

Haemoglobin (Hb)
10.1 g/dL
(Normal 11.5 - 14.3)

MCV



64 fL

(Normal 81 - 97)

MCH



23 pg

(Normal 27 - 33)

MCHC


27 g/dL
(Normal 32 - 35)

Which of the followings is the most likely diagnosis?

A) Iron deficiency anaemia

B) Fetal cardiac anomalies

C) Haemoglobin Bart`s disease
D) Gestational diabetes

E) Undiagnosed twins with twin-twin transfusion syndrome
103 ) not b,c,d

The chance of fetal hypoxia is the highest in which of the following conditions?
A) Oligohydramnios with Amniotic fluid index of 5cm
B) Intrapartum variable decelerations, 3 times in 30 minutes, each lasts for 1 to 2 minutes duration, and dip to 60bpm. Baseline heart rate is 140bpm and variability is 5bpm
C) Thick meconium stained liquor
D) Decrease in systolic / diastolic velocity ratio of the umbilical artery
E) A single deceleration of 3-minute duration, dip to 140 from the baseline 160bpm. Baseline variablility is 5bpm
104 ) E

A woman complained of abdominal distension and pain 2 weeks following embryo transfer (in-vitro fertilization procedure). Physical examination revealed a distended abdomen, with tenderness and rebound tenderness over lower abdomen. There was no guarding. The bowel sound was present. The chest examination was unremarkable. The pregnancy test was positive. Ultrasound examination revealed bilateral enlarged ovaries with multiple follicles, normal uterus with no intrauterine gestational sac and large amount of ascitic fluid. The haemoglobin level was 17.5 g/dL with a haematocrit of 0.51. The white cell count was 28.2 x 109/L.
Which of the following management is most appropriate for her condition?
A) Laparoscopic ovarian cystectomy
B) Laparoscopic salpingectomy
C) Cautious fluid therapy
D) Paracentesis to alleviate ascites
E) C and D
105 ) E

You are called to see a primigravida of 28 weeks of gestation who has been admitted to the labour ward because of regular painful uterine contractions once every 4 to 5 minutes. She also has a temperature of 39.4 oC and a tachycardia of 110 bpm. She has no symptoms suggestive of upper respiratory tract infection or urinary infection. Physical examination revealed tenderness over the uterus even between contractions. The baby is in cephalic presentation. The cervix remained close and was 2 cm long on admission. The fetal heart rate is 180 bpm now.

Which of the following is the most appropriate management?

A) Give tocolytic therapy and epidural analgesia

B) Give intravenous antibiotics and tocolytic therapy

C) Give tocolytic therapy and perform external cephalic version

D) Give injection of corticosteroids and tocolytic therapy

E) Deliver by emergency caesarean section
106 ) D

A 36-year-old housewife attends your clinic with a history of primary infertility for 3 years.  She had irregular 25-90 days cycle with normal 5-days flow and no dysmenorrhoea.  She had good past health with no history of pelvic inflammatory disease.
What initial investigation(s) is/are appropriate?
A) Repeat semen analysis
B) Follicular phase Serum luteinizing hormone and follicular stimulating hormone
C) Mid-luteal phase progesterone
D) (2) & (3)
E) All of the above
107 ) C

20-year-old waitress complained of insidious onset of lower abdominal pain for 4 days, which increased in severity. In addition, there was yellowish vaginal discharge. She had a temperature of 38.5 oC. Pelvic examination revealed cervical excitation and tenderness at both adnexae. No pelvic mass was noted. Her LMP was one week ago.

Supposed the temperature persisted after 24 hours` of use of antibiotics. The white cell counts were 24 x 109/ L. The patient`s general condition did not improve.

What is the most appropriate next step in the management?

A) Await the culture results of the swabs and use the appropriate antibiotics accordingly

B) Repeat ultrasound examination

C) Perform emergency laparoscopy  drainage of any abscess 

D) Consult microbiologist for opinions on choice of antibiotics

E) Consult physician to exclude other causes for her febrile illness
108 ) not A

A 20-year-old nulliparous lady attended your antenatal clinic at 10 weeks of gestation. Her husband`s brother has Down syndrome and died in childhood.

Which of the following management options is most appropriate?

A) Reassure the lady that there is no need for any test because her risk of having a Down`s baby is low in view of her age 
B) Advise prenatal diagnostic test because her risk of having a Down`s baby has  increased by 1%

C) Check her blood for karyotyping and reassure if it is normal

D) Check her husband`s blood for karyotyping and reassure if it is normal

E) Advise invasive prenatal diagnostic test for karyotyping only if her brother-in-law`s karyotyping is trisomy 21.
109 ) not C,E

A 28-year-old nullliparous woman was admitted to the labour ward at midnight for spontaneous onset of labour since 10 p.m the night before.  This was a singleton pregnancy with the fetus in cephalic presentation.  The fetal heart rate pattern was normal throughout the labour.  Uterine contractions were 2 per 10 minutes initially, and the frequency increased to 3-4 per 10 minutes after syntocinon infusion, which was started at 02:00.  The cervical dilatation was plotted on the partogram as below.
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Which of the followings is correct?

A) The active phase started 6 hours after onset of labour

B) The partogram revealed a clinical picture of secondary arrest of labour

C) The action line was correctly plotted

D) Delivery by caesarean section should have been performed 12 hours after admission

E) Syntocinon infusion for augmentation should have been started on admission because of inadequate uterine contractions 
110 ) B

A 35-year-old housewife had a routine pap smear in your general practice clinic last week.  The smear result showed `low grade squamous intra-epithelial lesion` (LGSIL).

The accepted management would include:

1.  refer her for colposcopy

2.  repeat the pap smear in 4 to 6 months` time

3.  repeat the pap smear within one week

4.  refer her to a gynaecologist for loop electro-excisional procedure (LEEP)

5.  advise her for hysterectomy because of the chance of undetected cervical carcinoma
A) I only

B) I and II
C) I, II, and III

D) All are correct

E) All are incorrect
111 ) D

Which of the followings is NOT a neonatal complication of maternal diabetes mellitus?
A) Hypoglycaemia
B) Hypocalcaemia
C) Hypomagnesaemia
D) Hyperglycaemia 
E) Macrosomia
112 ) D

A 24-year-old woman attends the gynaecological out-patient clinic because of secondary amenorrhoea. Her menarche started at the age of 13 and she did not have menstruation since the age of 23.
Your investigation revealed elevation of both LH (14.3 IU/L) and FSH (32.5 IU/L) levels. Other hormonal profiles are normal. What is the diagnosis?
A) Premature ovarian failure 
B) Ovarian resistant syndrome
C) Testicular feminization
D) (1) and (2) are possible
E) All (1), (2) and (3) are possible
113 ) C

A 29-year-old woman attends your antenatal clinic for the first time at 34 weeks of gestation.  She complains of abdominal distension. The fundal height measures 38 cm. An ultrasound examination revealed polyhydramnios and fetal hydrops, with no structural abnormalities found.

Which of the followings is the most likely diagnosis?
A) Iron deficiency anaemia
B) Fetal cardiac anomalies
C) Haemoglobin Bart disease
D) Gestational diabetes
E) Undiagnosed twins with twin-twin transfusion syndrome
114 ) D

A couple with beta-thalassaemia minor now turns up at 35 weeks of gestation for antenatal care. There was no antenatal check-up previously.

Which of the following management is appropriate?

A) Offer amniocentesis for exclusion of beta- thalassaemia major

B) Offer cordocentesis for exclusion of beta- thalassaemia major

C) Offer ultrasound for hydrops fetalis, which is feature of beta-thalassaemia major

D) Invasive prenatal diagnosis should not be offered at this gestation 
E) Perform cord blood to exclude fetal anemia at birth
115 ) B

A primigravida woman now at 20 weeks` gestation came to see you because of dysuria, urinary frequency, and cloudy urine. Her urine cultured Escherichia coli, which was sensitive to ampicillin. You treated her with a course of ampicillin.  When revealing her case notes, it was discovered that she had two similar episodes of urinary tract infection at 12 weeks` and 15 weeks` gestation respectively.

Apart from investigation for urinary tract abnormalities or lesion, which one of the followings is the most logical antenatal management for this woman?

A) Regular surveillance of mid-stream urine and treat if positive culture

B) Give prophylactic antibiotics throughout the antenatal period

C) Give prophylactic antibiotics during labour

D) Give prophylactic antibiotics only if there is abnormality of urinary tract

E) Use antibiotics only if there are urinary symptoms
116 ) A

Which of the following antihypertensives is contraindicated for use in pregnancy?

A) Enalapril

B) Methyldopa

C) Propranolol

D) Hydrallazine

E) Nifedipine
117 ) C

Gonadotrophin releasing hormone analogues can be used in the following conditions except:

A) Endometriosis
B) Assisted reproduction
C) Pre-operative management for colposuspension
D) Pre-operative management of uterine fibroids
E) Pre-operative management for endometrial ablation
118 ) not C

A normal multiparous 50-year-old woman has no complaints.  Menopause occurred two years before and was uneventful.  She would like to know if routine gynaecological examinations are of any value.

Regarding the value of pap smear, the following statements have been made.

1. The sensitivity of a pap smear is around 50%

2. The specificity of a pap smear is around 50%

3. The new `Thin-Prep pap` test is both a screening and diagnostic test for cervical cancer

4. It is more cost-effective to perform pap smear every 3 years than every year

5. If all her pap smear results are normal, there is no need to continue this screening

   test after the age of 65.

Which of the above statement(s) is/are correct?

A) 3 and 4 only

B) 3, 4 and 5 only

C) 2, 4 and 5 only

D) 1, 4, and 5 only

E) All are correct
119 ) C

A 24-year-old woman attended the gynaecological out-patient clinic because of secondary amenorrhoea. Her menarche started at the age of 13 and she did not have any menstruation since the age of 23. She was not aware of any recent weight change or excessive hair growth. She was not on any medication.

What is the following statement is INCORRECT?

A) Tuberculosis endometritis is a differential diagnosis

B) Measurement of the luteinizing hormone (LH) and follicular stimulating hormone (FSH) can help to differentiate between ovarian and hypothalamic-pituitary causes

C) The measurement of oestradiol (E2) level is essential in establishing the diagnosis

D) Withdrawal bleeding after 5 days` progestogen excludes genital tract lesion as the underlying cause

E) Karyotyping is indicated if premature ovarian failure is diagnosed
120 ) C

The routine antenatal blood test of a 38-year-old woman at 12 weeks of gestation revealed positive VDRL (Venereal Disease Research laboratory) titre and FTA-Ab (Florescence Treponema Antibody Absorbance test). She gave no history of sexually transmitted disease.

Which of the following statements is NOT correct?

A) Untreated syphilis may result in premature labour

B) The FTA-Ab test remains positive even after successful treatment

C) Treatment of syphilis in early pregnancy will not protect the fetus

D) The VDRL test usually returns to normal after successful treatment

E) Congenital syphilis causes skeletal damage to the neonate and is unlikely to be detected on antenatal ultrasound examination
121 ) not A

A 49-year-old woman complains of a mass coming out from the vagina.  Examination reveals a third-degree uterine prolapse.

In this woman you would expect to see:

A) The fundus of the uterus is still inside the vagina

B) An enterocele protruding from the vagina

C) Both the anterior and posterior vaginal wall protruding from the introitus

D) The anterior vaginal wall protruding from the introitus

E) Nothing of the above is correct
122 ) A

A 18-year-old primigravida woman was seen at the booking clinic at 12 weeks of gestation. She gave a history of suffering from painful vesicular lesions in the vulva 3 weeks ago. This was her second attack, the last one happened 2 years ago. The lesion had already subsided by the time she was seen at the antenatal clinic. Physical examination was normal and the screening for other sexually transmitted diseases was negative.

Which is the most appropriate management?

A) Examine the genitalia at the time of labour onset and perform caesarean section if she has active genital lesions

B) Prescribe prophylactic acyclovir cream

C) Serial viral culture from vaginal swab at 28, 32 and 26 weeks and perform caesarean section if any of these swabs are positive for Herpes simplex type II

D) Advise termination of pregnancy since the attack occurred in the first trimester

E) None of the above
123 ) A

A 18 year old girl has a routine body check before entering the university. During clerking, she claims she has never had menstruation. She has on and off nonspecific abdominal pain. She is 160cm tall, 45kg in weight. There is no pubic or axillary hair, but breast development is normal.

What is the most likely diagnosis?

A) Turner syndrome

B) Testicular feminisation syndrome

C) Imperforate hymen

D) Uterine agenesis

E) Hyperprolactinemia
124 ) A

52-year-old, nulliparous woman presented with progressive abdominal distention and pain for 2 weeks. Physical examination revealed a large pelvi-abdominal mass, at least 15 cm in size. There was also shifting dullness. Ultrasound examination revealed a large abdominal mass with both solid and cystic component, which was separated from the uterus. The ovaries were not identified.

What is the most likely diagnosis?

A) Epithelial carcinoma of the ovary

B) Dysgerminoma of the ovary

C) Uterine fibroid

D) Carcinoma of the cervix with pelvic extension

E) Cystadenoma of the ovary
125 ) E

A 48-year old pre-menopausal woman comes to you because of incidental finding of a 3 cm anterior uterine fibroid.

What is the most appropriate management?

A) Hysterectomy

B) Myomectomy

C) Gonadotrophin-releasing hormone analogue

D) Oral contraceptive pills

E) Reassurance and observation
126 ) E/C  not sure
A 32 year-old woman was referred at 27 weeks of gestation because of intrauterine growth retardation. All fetal parameters were well below the 3rd centile. The estimated fetal weight was only 560 gram. The liquor volume was normal. The fetal morphology was uncertain due to unfavourable fetal position. The doppler study of the umbilical artery was normal.

Which of the following investigations is INAPPROPRIATE?

A) Cordocentesis for fetal karyotyping

B) Repeat morphology scan by experts in prenatal diagnosis

C) Check maternal blood for Toxoplasmosis titre

D) Check fetal blood or amniotic fluid for Cytomegalovirus infection

E) Oral glucose tolerance test to exclude gestational diabetes mellitus
127 ) C

A primigravida woman at 25 weeks of gestation was admitted because of the first episode of antepartum haemorrhage. The amount of bleeding was around 20 ml and it subsided after admission. An ultrasound examination excluded low-lying placenta. Her haemoglobin was 10.2 g/dL and her blood group was O -ve.

Which of the followings is/ are appropriate management?

1. Give a course of antenatal corticosteorids

2. Keep X-match during admission

3. Keep her in hospital until delivery

4. Give Rhesus D immunoglobulin

5. Ultrasound to exclude hydrops fetalis

A) 1 and 2

B) 1,2 and 3

C) 1,2, and 4

D) 1,2,3, and 4

E) 1,2,3,4, and 5
128 ) A

A 54-year-old woman attends your clinic for advice about hormone replacement therapy (HRT).  She had menopause two years ago and did not suffer from menopausal symptoms.

During your counseling, which of the followings is/are the confirmed advantage(s) of HRT that you needs to inform her?

A) HRT reduces the risk of osteoporotic fracture

B) HRT is an important modality for secondary prevention of cardiovascular disease

C) HRT effectively prevents Alzheimer disease

D) HRT lowers the incidence of ovarian malignancy according to the recent literature

E) All of the above
129 ) E

A 33-year-old mother just delivered a baby with Down`s syndrome (47XX, +21). The antenatal care was uncomplicated and the biochemical screening test at 16 weeks of gestation revealed low risk for Down`s syndrome.

Which of the following statement is correct?

A) Mid-trimester biochemical screening test for Down`s syndrome should detect over 90% of Down`s syndrome at her age

B) The risk of recurrence of Down`s syndrome in her future pregnancies is ~5% above the background risk for her age

C) Invasive prenatal diagnosis is a must in her future pregnancies

D) Biochemical screening test should not be offered to her in her future pregnancies

E) There is no need to check the couple`s karyotype
130 ) not B

A woman, para O, with uneventful antenatal course and no date problem, was admitted to the antenatal ward because of premature rupture of membranes at 38 weeks of gestation. The admission cardiotocogram was reactive. Physical examination revealed that the woman was afebrile and the uterus was non-tender. The fundal height was 33 cm. The fetus was in cephalic presentation and the head was 2/5 above the pelvic brim. Moderately thick meconium stained liquor (MSL) was noted on examination.

Which of the following management is most appropriate?
A) Expectant management till spontaneous onset of labour
B) Expectant management till rupture of membranes for > 24 hours, when labour should be induced
C) Induce labour now by prostaglandins
D) Induce labour now by oxytocin
E) Perform emergency caesarean section
131 ) D

An illegal immigrant from mainland China presented with uterus small-for date at 37 weeks from her first date of last menstrual period. She had no antenatal visit in the current pregnancy. Ultrasound examination revealed that all the fetal parameters were small (< 3rd centile for 37 weeks).
The liquor volume and Doppler examination were also performed. Which one of the following statements is incorrect?
A) An amniotic fluid index (AFI) of < 5 cm would suggest intrauterine growth restriction as the cause
B) If the AFI is 24 cm, it is necessary to have detailed morphology scan
C) Absence of the end-diastolic blood flow on Doppler scan of the umbilical artery is compatible with intrauterine growth restriction
D) If the AFI is < 5 cm, obstruction in the upper gastrointestinal tract should be suspected
E) Immediate delivery is necessary of reverse end-diastolic blood flow on Doppler scan of the umbilical artery is noted
132) B

A woman at 39 weeks of gestation informed you that her elder son had chicken pox infection yesterday. She was not sure if she had chicken pox infection herself in the past.
Which of the following is INCORRECT?
A) Arrange Varicella-zoster IgG for immunity
B) Arrange Varicella-zoster IgM for active infection
C) If she develops chicken pox infection within 7 days of delivery, there is a high risk of neonatal infection
D) Maternal chicken pox infection can lead to severe pneumonia and death
E) If she has developed chicken pox infection in the past, she will not be infected this time.
133 ) D

A nulliparous woman was admitted to the antenatal ward because of lower abdominal pain, which was associated with walking. Physical examination revealed tenderness over the pubic symphysis. The abdominal examination was otherwise normal.

What is the most appropriate management?
A) Bed rest
B) Perform epidural analgesia for pain relief
C) Prescribe indomethacin for pain relief
D) Consult occupational therapist for pelvic binder
E) Consult rheumatologist to exclude autoimmne disease
134 ) B

A woman is diagnosed to have residual trophoblastic disease.
Which of the following criteria is not included in the Bagshowe score?
A) Age
B) Number of pregnancies before
C) Previous use of chemotherapy
D) Site of metastasis
E) Number of metastases
135 ) B

A primigravida woman was sent to labour ward at 31 weeks of gestation because of severe pre-eclampsia. Her blood pressure was 175/ 105 mmHg and there was 3+ proteinuria. She was asymptomatic. The fetal heart tracing was reactive.
The patient had a generalized tonic-clonic convulsion for 5 seconds while you were reviewing her. She was very drowsy after the convulsion. There was fetal bradycardia (heart rate 80 bpm). Her blood pressure rose to 210/130 mmHg.What is the most appropriate action?
A) Consult physician for EEG
B) Perform emergency caesarean section after stablization
C) Give diazepam (valium) to prevent further attacks
D) Arrange CT scan of brain
E) Insert CVP line
136 ) not B

A 13-year-old girl with no previous coital experience presented to the out-patient clinic complaining of cyclical lower abdominal pain and primary amenorrhoea.

Which of the following investigations is the most appropriate one for making the diagnosis?

A) Pregnancy test

B) Serum luteinizing hormone (LH) and follicular stimulating hormone (FSH)

C) Transabdominal ultrasound of the pelvis

D) Serum human chorionic gonadotrophin (HCG)

E) Serum prolactin
137 ) not C,D

A pregnant lady is referred to you because of post-date.
Which of the following is incorrect regarding this pregnancy?

A) higher rate of classical caesarean section
B) higher rate of induction of labour

C) higher risk of birth canal injury

D) increased risk of intrapartum caesarean section for fetal intolerance of labour

E) increased risk of meconium stained liquor
138 ) E
A 38-year-old woman has known history of diabetes mellitus (DM) for 4 years and is on oral hypoglycaemics. She has no DM complications. She has 3 daughters and all of the previous pregnancies were uncomplicated.
She would like to get pregnant again and hence seek your advice. Which of the followings is an appropriate advice?
A) Change oral hypoglycaemics to insulin injection now
B) Advise her on the risk of DM on pregnancy including increased risk of fetal anomalies, pre-eclampsia, preterm labour and macrosomia
C) Advise her on the risk of grand multiparity
D) Advise her to delay the plan of getting pregnant until her diabetic control is satisfactory
E) All of the above
139 ) C

A term infant less than 24 hours old developed moderate jaundice requiring phototherapy.  The mother, now para 1, gravida 1, is type O Rhesus negative and the father is type B Rhesus positive.  Direct Coombs test on cord blood is negative, and the mother has no anti-Rh antibodies.
Which of the followings is the most likely diagnosis?
A) Physiological jaundice
B) Erythroblastosis due to Rhesus incompatibility
C) Erythroblastosis due to AB incompatibility
D) Congenital atresia of the bile ducts
E) Congenital infection
140 ) B

A 24-year-old woman, with good past health, had an ultrasound at 21 weeks of gestation, which showed that all the parameters were below the 3rd centile, corresponding to only 17 weeks` size. There was presence of fetal heart pulsation. Detailed fetal morphology was not possible because of unfavourable fetal position and small fetus. The liquor volume appeared normal. An early ultrasound at 10 weeks of gestation revealed normal fetal parameters.
Which of the following statement is correct?
A) The most likely diagnosis is date problem
B) The most likely diagnosis is early onset intrauterine growth retardation
C) The most likely diagnosis is constitutionally small baby
D) Normal liquor volume has excluded the possibility of intrauterine growth retardation
E) The diagnosis can only be established when the fetal morphology can be determined
141 ) B

A 48-year-old housewife attends your clinic with a history of irregular menstruation and prolonged menstruation for 8 months.  Her menses last 12-14 days with a cycle length varying from 22 to 90 days.  The menstrual flow can be very heavy and she feels increasingly dizzy.
Investigations have ruled out uterine pathology and you tried medical treatment. Despite good compliance, her menstrual problem is bothering her and her recent Hb is 8.6 g/dL.Which of the followings is the most appropriate management?
A) Total abdominal hysterectomy
B) Laparoscopic assisted vaginal hysterectomy
C) Vaginal hysterectomy
D) Endometrial ablation
E) Laparoscopic bilateral salpingo-oophorectomy
142 ) not D

A woman is diagnosed to have residual trophoblastic disease and is having methotrexate treatment.
What should be regularly checked ?
A) Chest X-ray
B) Electrocardiogram
C) Liver function test
D) Renal function test
E) Bone profile
143 ) C

A 24-year-old clerk attends your clinic with a history of irregular menstruation and prolonged menstruation since menarche.  Her menses last 5-16 days with a cycle length varying from 35 to 90 days.  She has no coital activity before. No treatment has been given before.

Which one of the following management is most appropriate treatment apart from iron supplement?

A) Mefenamic acid (Ponstan)
B) Progestogen (Provera) 5 mg twice daily from day 16 to 21 of each cycle
C) Combined oral contraceptive pills (Nordette)
D) Endometrial sampling/ dilatation and currettage
E) Cyproterone acetate
144 ) C

An 18-year-old lady complained of sudden onset of lower abdominal pain for 6 hours. The last menstrual period was 3 weeks ago. She is a virgin. Physical examination revealed fever of 38.4 degree Celcius, and rebound tenderness over left lower quadrant.

Which of the followings is the most appropriate management?

A) Book early ultrasound appointment in the X-ray Department
B) Take high vaginal and endocervical swabs and treat with cefuroxime, doxycline and metronidazole
C) Book emergency operation for diagnostic laparoscopy laparoscopic surgery
D) Try intramuscular pethidine
E) Book operation (diagnostic laparoscopy laparoscopic surgery) in the next available elective list.
145 ) E
A nulliparous lady presented at 27 weeks of gestation because of passing watery fluid vaginally in the past few days. Her previous antenatal course was uncomplicated. Speculum examination revealed a small amount of watery fluid. At contact of the fluid, the amniostix turned blue.

Which of the following management and its reason is INCORRECT?

A) Prescribe Dexamethasone to hasten the fetal lung maturity
B) Give a course of Erythromycin as this helps to reduce the risks of chorioamnionitis, neonatal infection and postpartum maternal fever
C) Look out for maternal fever, tachycardia and uterine tenderness as this can be a sign of chorioamnionitis
D) If there is no vacancy in the neonatal intensive care unit, arrange in-utero transfer to another tertiary obstetric unit where neonatal facility is available as this has been shown to improve the neonatal outcome
E) Give tocolytic therapy if there is onset of labour before 34 weeks as this has been shown to improve the neonatal outcome
146 ) D

The followings are explained to patients before external cephalic version (ECV) except:
A) Success rate is about 70 to 80%
B) Revision rate after successful ECV is 1%
C) Risk of clinical abruptio placentae is < 1%
D) Chance of intrapartum caesarean section rate is 15%
E) Transient bradycardia is common after ECV and require no intervention
147 ) B

A couple come to you for investigation and counseling for primary infertility. The woman has regular menstrual cycles with normal flow, and her husband had a normal semen analysis 3 years ago.
Which of the following regarding investigation for infertility is correct?
A) An abnormal semen analysis result signifies male infertility
B) High level of mid-luteal phase progesterone suggests ovulation
C) Post-coital test should be routinely performed
D) Basal body temperature is always reliable for prediction of ovulation
E) Prolactin level should always be checked
148 ) not D

A 44-year-old lady complained of 8-months` history of menorrhagia. There was no intermenstrual bleeding or menstrual irregularity. She was anaemic with a haemoglobin level of 6.8 g/dl. Her last menstrual period was 10 days ago. She has no known medical illness otherwise. Physical examination revealed a pelvi-abdominal mass equivalent to an 18 weeks` gravid uterus. Ultrasound confirmed the diagnosis of fibroid uterus.

Which one of the followings is the most appropriate management?

A) Try medical treatment such as nonsteroidal anti-inflammatory drug or transamine together with iron supplement first. Observe the menstrual flow for 4 months.

B) For emergency laparoscopic assisted vaginal hysterectomy (LAVH) today

C) For emergency total abdominal hysterectomy (TAH) today

D) Prescribe gonadotrophin releasing hormone (GnRH) analogue to shrink fibroid and iron supplement to build up haemoglobin. Book LAVH in ~ 4 weeks

E) Prescribe GnRH analogue to stop menstruation and iron supplement to build up haemoglobin. Book TAH in ~ 4 weeks.

149 ) C

39-year-old woman presented with the following oral glucose tolerance test (OGTT) results at 32 weeks of gestation. She has no known history of diabetes mellitus.

                                 Fasting glucose:  8.8 mmol/l

                                 2 hours glucose: 17.2 mmol/l
Which of the following statements is NOT correct?
A) The diagnosis is gestational diabetes (GDM)
B) Diet alone will not be sufficient and she needs insulin
C) Serum Haemoglobin A1C can differentiate whether it is a case of pre-existing diabetes mellitus or not
D) Physical examination and investigations should target for diabetic complications
E) In the postnatal period, she still needs careful blood glucose monitoring

150 ) not C

A multiparous woman at 37 weeks` gestation awakes from sleep and finds that she had profuse vaginal bleeding.  Her antenatal course has been normal.  She also has lower abdominal pain, which is not the same as the labour pain she had previously.  Her blood pressure and pulse remain normal. Her cervix os is close and there is 30 ml of blood in vagina. Very frequent uterine contractions are noted on the CTG but the fetal heart rate pattern is reactive.
The most appropriate management is:
A) Perform caesarean section
B) Offer epidural analgesia and await spontaneous delivery
C) Close observation and keep nil by month
D) Consult intensive care unit for admission for close monitoring
E) None of the above

151 ) B

A 25-year-old presents as an emergency because of painful swelling in the right vulval region. On examination, a 4 cm tender fluctulent mass was noted at the right lower vulval region. There was no external wound or haematoma formation.
Which of the following is the most appropriate management?
A) Vulval biopsy
B) Excision of the mass
C) Marsupialization
D) Conservative treatment with antibiotics
E) Right vulvectomy

152 ) not B

A 24-year-old woman attends the gynaecological out-patient clinic because of secondary amenorrhoea. Her menarche started at the age of 13 and she did not have menstruation since the age of 23.
Which of the followings is NOT what you will ask in the history?
A) Galactorrhoea
B) Climacteric symptoms
C) Diet and weight changes
D) Anosmia and pubertal developmental delay
E) None of the above

153 ) A
A woman aged 46 years attends your clinic with a history of severe menorrhagia for 12 months.  Her menses last 7 to 10 days with a cycle length of 24 to 28 days.  She uses large sanitary towels and changes hourly on a bad day.

Frequently, she may need to take a day off work and has occasionally suffered `flooding.`  Her haemoglobin was found to be 10.1 g/dL.  Pelvic examination was unremarkable.  Hormone profile was normal. She has completed family.

Which one of the following management is most appropriate for her?
A) Anti-fibrinolytics (Transamin) because it reduces menstrual blood loss by 50%

B) Progestogen (Provera) 10 mg twice daily from day 16 to 28 of each cycle

C) Ethinyl oestradiol 30 microgram per day for 3 months and review

D) Insertion of a copper-containing IUCD

E) Hysterectomy should be the first line treatment as medical treatment is unlikely to be helpful
154 ) not B

A nulliparous woman was admitted to the antenatal ward at 38 weeks of gestation because of lower abdominal pain, which was associated with walking. Physical examination revealed tenderness over the pubic symphysis. Abdominal examination was otherwise normal.
What is the most appropriate management?
A) Consult occupational therapist for pelvic binder
B) Complete bed rest
C) Perform epidural analgesia for pain relief
D) Prescribe indomethacin for pain relief
E) Arrange caesarean section

155 ) not E

Which of the following organisms is the commonest cause for acute pelvic inflammatory disease in Hong Kong?
A) Candida albicans
B) Treponema pallidum
C) Herpes simplex virus type 1
D) Chlamydia trachomatis
E) Neisseria gonorrhoea

156 ) B

A 49-year-old woman complained of pelvic pressure and stress urinary incontinence.  Examination revealed a large cystourethrocoele and rectocoele as well as a second-degree uterine prolapse.
In this woman, which of the followings is NOT what you would expect to see:
A) Protrusion of the cervix through the introitus
B) Protrusion of the body of the uterus through the introitus
C) The posterior vaginal wall at the introitus
D) The anterior vaginal wall at the introitus
E) Leaking of urine during coughing

157 ) E

A 70-year-old lady complained of 3 months` history of pruritus vulvae. She has a history of diabetes mellitus for 6 years and is on oral hypoglycaemics. The diabetic control is good. She has never taken any hormone replacement therapy before. She has been given some topical steroid cream by her general practitioner, which she applied to her vulva occasionally. The condition waxed and weaned.
Which of the followings should NOT be a differential diagnosis?
A) Lichen sclerosis
B) Candida vaginitis
C) Carcinoma of vulva
D) Vulval vaginal atrophy
E) All of the above answers are differential diagnoses

158 ) E

A woman aged 46 years presents with a history of severe menorrhagia for 12 months.  Her menses last for 8 to 10 days with a cycle length of 26 to 30 days.  She uses large sanitary towels and changes hourly on a bad day. Frequently, she may need to take a day off work during menstruation. Her haemoglobin was found to be 7.1 g/dL and the iron profile revealed elevated total iron binding capacity. Pelvic examination showed a fibroid uterus equivalent to a 12-weeks` gravid uterus. She has completed family. Previous treatment with anti-fibrinolytic agents has failed.

Which one of the following treatment option is most appropriate for her?

A) Mefanamic acid (Ponstan)

B) Progestogen (Provera) 10 mg twice daily from day 5 to 25 of each cycle

C) Endometrial ablation

D) Insertion of a progestogen-containing IUCD (Mirena)

E) Hysterectomy

159 ) not E

A nulliparous lady presented at 27 weeks of gestation because of passing watery fluid and lower abdominal pain. Her previous antenatal course was uncomplicated. On abdominal palpation, uterine contractions were noted at a frequency of 1 in 7 minutes. Speculum examination revealed a small amount of watery fluid. At contact of the fluid, the amniostick turned blue in colour. The cervix remained close.

Which of the following management and its reason is INCORRECT?
A) Prescribe weekly Dexamethasone if she does not deliver as there is concrete evidence on its benefit on neonatal outcome
B) Give a course of erythromycin as this helps to reduce the risks of chorioamnionitis, neonatal infection and postpartum maternal fever
C) Look out for maternal fever, tachycardia and uterine tenderness as this can be a sign of chorioamnionitis
D) If there is no vacancy in the neonatal intensive care unit, arrange in-utero transfer to another tertiary obstetric unit where neonatal facility is available as this has been shown to improve the neonatal outcome
E) Tocolytic therapy can be given for 24 hours to buy time for antenatal steroid to work

160) C

A 38-year-old woman has known history of diabetes mellitus (DM) for 4 years and is on oral hypoglycaemics. She has no DM complications. She has 3 daughters and all of the previous pregnancies were uncomplicated.
Supposed she is pregnant and presents at 30 weeks of gestation.  The fundal height is 34 cm.  Which of the followings is a likely diagnosis?

A) Pre-eclampsia
B) Intrauterine growth retardation
C) Polyhydramnios
D) Abruptio placentae with retroplacental clot
E) Down`s syndrome

161 ) not C

A 48-year-old housewife attends your clinic with a history of irregular menstruation and prolonged menstruation for 8 months.  Her menses last 12-14 days with a cycle length varying from 22 to 90 days.  Occasionally, the menstrual flow can be very heavy.
Which of the following investigations is the most appropriate one?
A) Dilation & curettage
B) Endometrial sampling
C) Transvaginal ultrasound examination
D) Transabdominal examination
E) Diagnostic laparoscopy
162 ) A

A 38-year-old woman who conceived after a treatment cycle of in-vitro fertilization was admitted to the gynaecological ward because of excessive vomiting. She was at 8 weeks of gestation on admission.

She could not tolerate any food or fluid and vomited more than 10 times per day. Physical examination revealed dehydration and there was +++ ketonuria.

Which of the following management is irrelevant?

A) Check high vaginal swab for Group B streptococcous

B) Check blood for electrolytes

C) Perform ultrasound for the number and size of fetus

D) Check mid-stream urine for culture

E) Rehydrate with intravenous fluid

163 ) D

A primigravida woman was sent to labour ward at 31 weeks of gestation because of severe pre-eclampsia. Her blood pressure was 175/ 105 mmHg and there was 3+ proteinuria. She was asymptomatic. The fetal heart tracing was reactive.

The medical officer has performed the followings immediately after the patient was transferred to the labour ward:

1. Insertion of an intravenous line using a 20-gauge cannula

2. Prescribe oral methyldopa (aldomet) 250mg three times daily

3. Insert a Foley catheter to monitor the urine output hourly

4. Prescribe Magnesium sulphate intramuscularly

5. Check urgent complete blood picture, renal and liver function test and clotting profile

Which of the above procedure(s) is/are NOT appropriate?

A) 1&2

B) 1&4

C) 1,2,3

D) 1,2,4

E) 1,2,3,4

164 ) not B

A 22-year-old clerk presented to the out-patient clinic with infrequent menstruation. Her cycle length varied between 90-150 days previously and recently she had her menstruation induced by medication given by her private general practitioner. Physical examination revealed a body mass index of 34 and an increase in hair growth over face and trunk. The pelvic examination was normal otherwise. She had regular coital activity but has no intention to start a family in the near future. The progestogen withdrawal test was positive. Results of the initial blood investigations are as follows:

LH

       13.4 IU/L    (Normal: Follicular phase 2.4-12.6)

FSH

       4.2 IU/L     (Normal: Follicular phase 3.5-12.5)

Prolactin
690 IU/L     (Normal < 650)

Testosterone
1.1 nmol/L   (Normal: 0.2-2.9)

Oestradiol
117 pmol/L   (Normal: Follicular phase 90-716)

What is the most appropriate medical treatment?

A) Bromocriptine

B) Combined oral contraceptive pills

C) Diane-35 (cyproterone acetate plus ethinylestradiol)

D) Depot provera

E) 1500 kcal diet is usually sufficient

165 ) E

A 24-year-old, nulliparous, sexually active lady was admitted because of one-day history of abdominal pain and fever. Her vital signs were stable but there was a fever of 37.8 degree Celcius. The abdomen was soft but there was tenderness over the right lower quadrant. Foul smelling yellowish discharge was noted in the vagina. Cervical excitation pain and right adnexal tenderness could be elicited on examination. The pregnancy test was negative. An ultrasound of the pelvis showed normal uterus and ovaries. No abnormal adnexal mass was detected.

Which one of the followings is the most appropriate management?

A) Serial HCG monitoring and start board spectrum antibiotics

B) Perform emergency diagnostic laparoscopy +/- laparoscopic surgery and start antibiotics after the operation if necessary

C) Urgent transferal of the patient to the surgical ward for exclusion of surgical cause first

D) Start board spectrum antibiotics and perform emergency diagnostic laparoscopy +/-laparoscopic surgery

E) Start board spectrum antibiotics and plan for emergency diagnostic laparoscopy +/-laparoscopic surgery if no response to antibiotics

166 ) not D

A nulliparous woman at 34 5/7 weeks presents to the antenatal ward because of rupture of membranes 2 hours prior to admission. She has no uterine contractions. The fetus remains active.

Which of the following is NOT an appropriate management?

A) Perform a speculum examination

B) To confirm the diagnosis with an amniostix

C) Give dexamethasone and tocolytic therapy if she has spontaneous onset of labour

D) Induction of labour if she does not go into spontaneous labour after 24 hours

E) CTG for the fetal wellbeing

167 ) C

A woman at 39 weeks of gestation informed you that her elder son had chicken pox infection yesterday. She was not sure if she had chicken pox infection herself in the past.

Which of the followings is correct?

A) High Varicella-zoster IgG titre is associated with neonatal infection

B) Arrange Varicella-zoster IgM for active infection

C) If she develops chicken pox infection within 7 days of delivery, there is a high risk of neonatal infection

D) Maternal chicken pox infection during pregnancy usually leads to severe pneumonia and death

E) Past chicken pox infection will not necessarily confer immunity to the patient

168 ) A

A woman was admitted at 6 weeks and 6 days of gestation because of vaginal bleeding. She had irregular 25-35 days` menstrual cycle and the pregnancy test was positive at 5 weeks of amenorrhoea. She was not sure if any tissue mass has been passed. Physical examination revealed an open cervical os. There was no abdominal sign. An ultrasound examination revealed empty uterus and both adnexal regions were normal. There was no free fluid in the pelvis.
Which of the following statements is the most correct one?
A) The diagnosis is complete abortion 

B) Ectopic pregnancy is the most likely diagnosis
C) Threatened abortion with date problem is the most likely diagnosis
D) A diagnostic laparoscopy should be arranged as soon as possible
E) Misoprostol should be started for evacuation of uterus

169 ) not C

3-year-old woman who had a laparoscopic assisted vaginal hysterectomy performed for uterine fibroid two days ago complained of increased abdominal distension for one day. She also vomited two times in that evening. You are the intern on-call and physical examination revealed an ill-looking patient with fever, guarding and rebound tenderness on abdominal palpation, and no bowel sound heard. The abdomen is distended.

Which of the followings is the most likely diagnosis?

A) Pelvic cellulitis
B) Bowel perforation
C) Bladder perforation 
D) Uretero-vaginal fistula
E) Paralytic ileus due to residual blood in the pelvis
170 ) E

A 39-year-old mother attends your clinic at 16 weeks` gestation.  All her previous pregnancies were uncomplicated. A dating ultrasound revealed singleton pregnancy with normal fetal parameters.

Which of the following test(s) would you offer in view of her age?

A) Biochemical screening

B) Chorionic villous sampling

C) Amniocentesis

D) Amniocentesis or chorionic villous sampling

E) Amniocentesis or biochemical screening 

172 ) not E

A 33-year-old gravida 2, para 2 woman presents with severe lower back and abdominal pain. The pain began with her last menstrual period 3 days ago and has grown steadily worse.  She has noticed a history of gradually increasing cyclic pain with each period over the past 9 months.  There was also dysparunia. Examination reveals bilateral 5 cm cystic ovaries that are moderately tender. Tenderness is also noticed in the region of both uterosacral ligaments.

The most appropriate management is:

A) Try Non-steroidal anti-inflammatory drugs before considering surgery

B) Try Combined oral contraceptive pills before considering surgery

C) Try Gonadotrophin releasing hormone analogue before considering surgery

D) Laparoscopic bilateral ovarian cystectomy

E) TAHBSO and post-operative hormonal replacement therapy 

173 ) not A 

A woman presented with vaginal bleeding after coitus at 30 weeks of gestation. Her antenatal course has been normal.  The blood pressure and pulse remained normal.

Which of the followings is least likely to be the diagnosis?

A) Cervical ectropion 

B) Placenta praevia

C) Placenta abruptio

D) Placenta chorioangioma

E) Cervical polyp

175 ) not C

A primigravida woman was sent to labour ward at 31 weeks of gestation because of severe pre-eclampsia. Her blood pressure was 175/ 105 mmHg and there was 3+ proteinuria. She was asymptomatic. The fetal heart tracing was reactive.

The patient had a generalized tonic-clonic convulsion for 5 seconds while you were reviewing the results at question 14. She was very drowsy after the convulsion. There was fetal bradycardia (heart rate 80 bpm). Her blood pressure rose to 210/130 mmHg.

Which of the followings is the most appropriate first management?

A) Control her blood pressure

B) Perform emergency caesarean section

C) Give diazepam (valium) to prevent further attacks

D) Arrange CT scan of brain

E) Insert CVP line

176 ) not D

A 21-year-old woman was admitted to the gynaecological ward because of vaginal bleeding at 9 weeks of gestation. The bleeding was minimal. She had a pregnancy test performed 4 weeks ago and it was positive.

Supposed the same transvaginal ultrasound revealed an intrauterine gestational sac with the presence of a fetal pole. The CRL corresponded to 9 weeks of gestation. Fetal heart pulsation was seen. Both adnexae were normal.

What is the most appropriate management?

A) Reassure and discharge

B) Prescribe progestogen and discharge

C) Complete bed rest in the hospital till 12 weeks

D) Discharge and repeat transvaginal ultrasound scan in 2 weeks` time for viability

E) Check serial serum human chorionic gonadotrophin levels for confirmation of diagnosis

177 ) D

A 14-year-old girl presented with severe lower abdominal pain for one day. She has noticed recurrent lower abdominal pain for one year. Physical examination revealed a large pelvi-abdominal mass equivalent to a 14 weeks` size gravid uterus. Examination of the external genitalia showed a bluish mass bulging out from the introitus. She also had primary amenorrhoea.

What is the most appropriate management?

A) Total abdominal hysterectomy

B) Evacuation of the uterus

C) Check pregnancy test and if negative, perform hysteroscopy

D) Cruciate excision of the hymen

E) Refer her to interventional radiologist for drainage under ultrasound guidance

178 ) not B

A 40-year-old woman was admitted at 20 weeks of gestation because of rupture of membranes following an amniocentesis 2 weeks ago. Clinically, there was no sign of infection.

Which of the following statements is INCORRECT?

A) The chance of spontaneous abortion is over 70%

B) There is a chance of good neonatal outcome if the site of rupture of membranes can seal off and the amniotic fluid can reaccumulate

C) Chorioamnionitis can be the underlying cause for the rupture of membranes

D) Early onset oligohydramnios due to rupture of membranes carries high risk of pulmonary hypoplasia and limb contractures

E) Termination of pregnancy should be offered if the amniotic fluid index on ultrasound  examination is below 8 cm on admission.

179 ) B

A 35-year-old parity 0 lady is now at 16 weeks of gestation. Routine antenatal investigation showed that she is HIV positive. The result is confirmed by the Western-blot test. There are no clinical features of AIDS.

Which of the following statement is INCORRECT?

A) Zidovudine should be prescribed throughout the whole antepartum period from now on

B) Without any treatment, the risk of neonatal HIV infection is 70% 
C) Elective caesarean section should be arranged at term

D) Breast-feeding is undesirable as this increases the risk of neonatal infection

E) With all appropriate measures, the risk of neonatal transmission can be reduced to around 2%
180) E

A woman at 10 weeks of gestation informed you that her elder son had chicken pox infection yesterday. She was not sure if she had chicken pox infection herself in the past.

Which of the following is INCORRECT?

A) Arrange Varicella-zoster IgG for immunity

B) If she develops Herpes Zoster infection, there is no fetal risk 
C) If she develops chicken pox infection, there is a 3-5% risk of congenital Varicella syndrome

D) Maternal chicken pox infection can lead to severe pneumonia and death

E) Prophylactic Zoster immunoglobulin helps to reduce the development of maternal infection.

181 ) not B,E

A 40-year-old woman, gravida 4 para 3, had spontaneous onset of labour at term. She had uncomplicated deliveries in the past. This time she had slow progress of labour. The cervical dilatation remained 8 cm for 4 hours.

What is the most appropriate management?

A) Give oxytocin to augment labour

B) Perform ventose extraction as she is a multiparous woman

C) Continue fetal heart monitoring and reassess in 2 hours

D) Perform emergency caesarean section

E) None of the above
182 ) C

A 48-year-old woman presents with secondary amenorrhoea and symptoms of hot flushes. She is wondering whether she is menopausal.
Which of the following tests is the most diagnostic for her condition ?
A) Low serum estradiol level
B) Low serum progesterone level
C) High serum FSH level
D) High serum LH to FSH ratio
E) Low serum LH to FSH ratio
183 ) B

A 38-year-old woman, mother of 3 children, asks the advantages and disadvantages of intrauterine contraceptive device for contraception.

Which of the following is correct?

A) It increases the overall incidence of ectopic pregnancy

B) Risk of infection is highest in the first week of insertion 
C) The risk of intrauterine infection is high even in monogamous relationship

D) Uterine cramps are likely in the first 2 years of insertion

E) Translocation of the device in the peritoneal cavity can be managed conservatively with serial ultrasound scan
184 ) not A,B

An 18-year-old lady complained of sudden onset of lower abdominal pain for 6 hours. The last menstrual period was 3 weeks ago. She is a virgin. Physical examination revealed fever of 38.6 degree Celcius, tenderness and rebound tenderness over left lower quadrant. There was no guarding. A tender pelvic mass, 6 cm in size, was detected at the left adnexa. Urine for protein and white cell was negative. There was leucocytosis of 18.5 x 109/L.

Which of the followings is the most appropriate management?

A) Book early ultrasound appointment in the X-ray Department within these few days 
B) Take high vaginal and endocervical swabs and treat with cefuroxime, doxycline and metronidazole

C) Book emergency operation for diagnostic laparoscopy  laparoscopic surgery

D) Try intramuscular pethidine

E) Book operation (diagnostic laparoscopy laparoscopic surgery) in the next available elective list
185 ) C

A 36-year-old housewife attends your clinic with a history of primary infertility for 3 years.  She had regular 28-day cycle with normal 5-days` flow and no dysmenorrhoea.  She had good past health with no history of pelvic inflammatory disease.  The couple had no coital problem.  Her husband is a 40-year-old healthy clerk.  No investigations or treatment have been instituted prior to your consultation.

Which of the following investigations is NOT necessary?

A) Semen analysis

B) Diagnostic laparoscopy and chromotubation

C) Thyroid function test

D) Day 21 serum progesterone level

E) Rubella immune status
186 ) D

Which of the following infection in pregnancy does NOT cause congenital abnormalities?

A) Toxoplasmosis

B) Rubella

C) Cytomegalovirus

D) Chlamydia trichomonas

E) Syphilis
187 ) not C,D

A 32-year-old, parity 4 lady, had just delivered a baby boy of 4 kg in the delivery suite. The antepartum and intrapartum courses were uncomplicated. One dose of syntometrine was injected after delivery of the fetal head. She was noticed to have profuse vaginal bleeding of 1,000ml soon after the delivery of the placenta.

Please prioritize the following steps of the management in the order of urgency?

1. Check trauma at cervix and vagina

2. Uterine massage and give oxytocin

3. Give intramuscular injection of Haemabate

4. Set up an intravenous line using a 16-gauge cannula and send blood for x-match

5. Check the completeness of the placenta

A) 4, 2, 5, 1, 3

B) 2, 5, 1, 4, 3

C) 4, 3, 2, 5, 1

D) 4, 2, 3, 1, 5

E) 2, 5, 1, 3, 4
188 ) C

A woman at 30 weeks of gestation was admitted with spontaneous rupture of membranes.  There was no sign of labour. The baby was detected to be in breech presentation with an estimated fetal weight of 1.2 kg.

Which of the following management is INAPPRORIATE?

A) Administer one course of antenatal corticosteroids as prophylaxis

B) Administer prophylactic antibiotics for one week

C) Attempt external cephalic version while the liquor volume is normal 
D) Assess the fetal wellbeing by cardiotocogram

E) Deliver at 34 weeks of still no signs of labour
189 ) E

A 40-year-old woman complained of right lower quadrant pain for 24 hours associated with nausea. She also had irregular, frequent, and scanty `periods` for 6 weeks after the last menstruation. Examination of the pelvis revealed a slightly irregular uterus the size of a 6 weeks` gestation.  The left ovary was normal in size, firm and not tender.  The right adnexal area revealed no masses on palpation but was very tender.

Which of the following is most UNLIKELY to be the diagnosis?

A) Acute appendicitis

B) Ectopic pregnancy

C) Ruptured corpus luteal cyst

D) Threatened abortion

E) Cervical intra-epithelial neoplasia
190 ) A

A 52-year-old woman who reached her menopause 18 months ago was given continuous combined oestrogen and progestogen as hormone replacement therapy for menopausal symptoms. There was no gynaecological problem in the past. She complained of irregular vaginal bleeding in her first 2 months of treatment. The amount of bleeding was small and she only changed 2 thin pads per day.

Which of the following statement is correct?

A) She can be reassured that irregular bleeding is a common side-effect and will go away in 4-6 months 
B) Hysteroscopy is necessary to exclude endometrial lesion

C) The dosage of the oestrogen should be increased

D) The dosage of the progestogen should be increased

E) Progestogen should be stopped
191 ) not C, not B
You are asked to see a para 0 woman with prolonged second stage, with station: S level, position: LOP, caput: 1+

What is the most appropriate management?

A) Caesarean section
B) Vacuum extraction
C) Rotational forceps delivery (N)
D) Outlet forceps delivery
E) Continuous maternal pushing
192 ) not C

A 50-year-old lady presented with progressive abdominal distention for 3 weeks. On abdominal examination, a 30 cm abdominal mass was noted. Ultrasound examination revealed a large multiloculated cyst with papillary structure and ascites. The uterus is normal in size. Both ovaries were not well seen. No liver mass or enlarged lymph nodes were seen.

What is the most appropriate management?

A) TAHBSO, debulking of any residual tumour and post-operative chemotherapy

B) Laparotomy and removal of the cyst and post-operative radiotherapy

C) Laparoscopic salpingo-oophorectomy and post-operative radiotherapy 
D) Refer for palliative care because of advanced disease

E) Refer surgeon as the most likely diagnosis is carcinoma of colon
193 ) C

A 19-year-old Form 5 student just had her third termination of pregnancy at 12 weeks of gestation. Male condom, `coitus interruptus` and `safety period` were her contraceptive methods.

What is the best contraceptive method for her?

A) Intrauterine contraceptive device

B) Consistent use of male condom

C) Combine oral contraceptive pills plus male condom 
D) Female condom

E) Emergency contraception after coitus
194 ) D

You are called to see a primigravida of 30 weeks` gestation who has been admitted to the labour ward because of regular painful uterine contractions once every 4 to 5 minutes. The baby is in breech presentation. The cervix remains close and is 1 cm long. The fetal heart rate is normal.

Which of the following is the most appropriate management?

A) Give tocolytic therapy and epidural analgesia

B) Give intravenous antibiotics and tocolytic therapy

C) Give tocolytic therapy and perform external cephalic version

D) Give injection of corticosteroids and tocolytic therapy

E) Caesarean section

195) E
A 40-year-old nulliparous women at 39 weeks of gestation presents with high blood pressure (170/106 mmHg), proteinuria (3+) and severe headache.
Which of the followings is not an appropriate management measure?
A) Give antihypertensive to control her blood pressure.
B) Check her liver and renal functions to look for derangements.
C) Check the 24-hour urine protein to document the severity of proteinuria before deciding on further management.
D) To induce labour if her cervix is favourable.
E) Give anticonvulsant (e.g. magnesium sulphate) even though she has no convulsion.
196)  A
A 38-year-old woman has known history of diabetes mellitus (DM) for 4 years and is on oral hypoglycaemics. She has no DM complications. She has 3 daughters and all of the previous pregnancies were uncomplicated.

Supposed she is pregnant and had a very poor control of her diabetes. She had spontaneous onset of labour at term, which resulted in slow progress of labour. The cervix remains 8 cm for 4 hours. The frequency of uterine contractions was one in 4 minutes. What is the most appropriate management?

A) Perform emergency caesarean section because cephalo-pelvic disproportion is the most likely diagnosis

B) Give oxytocin to augment labour as inefficient uterine contraction is the most common diagnosis for slow progress of labour

C) Perform ventose extraction as she is a multiparous woman and previous vaginal deliveries were uncomplicated

D) Continue fetal heart monitoring and reassess in 2 hours as she might reach second stage shortly

E) None of the above
197)  C

Miss Wong has forgotten her last menstrual period.
Which of the following can best accurately estimate the gestational age?
A) Crown-rump length in the second trimester
B) Biparietal diameter in the first trimester
C) Femur length in the second trimester
D) Femur length in the third trimester
E) Time of positive maternal perception of fetal movement (quickening)

